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1. jﬂw average of 10 consecutive odd numbers is 64 and the average of 8 conseculive even numbers
is 49. Then the average of the extreme values among the odd numbers and the extreme values
amony the even numbers is
10 5685 Bh Soyge Srftn 64 Sobakn B 5535 50 mopge Bt 49 wond BN Songe wod Dwdon S0dm 55
Roge wods Deode Sk |

6.5 (2) 56 (3) 54 (4, 545

2. A shopkeeper bought an article for ¥ 1,200 and sold it with a pmfrﬁ;f’ 10% on credit basis such that
the amount has to be repaid after 4 years with simple interest at thigate of 10%. Then the amount
(in rupees) received by the shopkeeper at the end of the 4" yedr is|
8 R el SiH 1,200 Srdvabus Fond S0 ol 10% ovgol® eind. eowd o Dy
10% T&ps ohssa® 4 Sossme Sos oA TDodyty v, Wenotnd 4 Soddoe dogd Sold
Sniio (Grardbod®) N
(1) 1,320 (2)| 1,848 4 1,850 (4) 1,448

J7 + 4.3 J12 + 643
2 + 2 L

I Si2-6B _ 57 4B >
(1) 3 @] 3(223) N «-'*5\ 2% fi w o

— A T

- da+o _ %
4. If 3 =, then 7 5
i B r_'- Eﬂ + E’_-'l_= ey :
E‘ﬁﬁ,ﬂ'&l"r?mf‘i‘:ﬂd-:':"
E ..-..:ii .+ b ﬂ + SM ._‘i{_ + -I'IF
IE (Be+dlb gV B Teaw M ST
I\ﬂ+3:'? 42 o o+ ] - ) . B .
ol - I: 1 man in a day. The work done by a
F P T work done by a wo 3
5. The ka done t&T#}Iﬂﬂn 15 1 3 nmes the
n @ : to complete a work
o1 is 3" GPihe work done by women in a day. 45 people are engaged to comp R
C 4 e ; i at ernd i
e g LB t of ¥ 61,200 1s pat
B, . 6:5:4 Anamoun o Y !
where thigaatio of men, WOFCH - dl:jjjnr:,{ntf the amount of work done by an individual, then th
the 374'day, If the wages arc proport
' of a women (in rupees) 1S

dﬂﬂ}!fj:i‘lj‘._gﬁ

& 530

= an o8 b FH 308 1
L& e, 2.8 B> Fb 50 88 5 .

oo Soa DS ngpd b+
L8 i

(4) 430
P S,

T

[
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b. A person i 1 . th
IMyvests . of his total capital at 12% per annum, % at 10% per annum and the
remainin rt ;
then the Enr'i;u altIE“,.-‘., PEr annum. If his total annual interest from all these investments is ¥ 33,000,
nhmnvested at 8% per annum (in rupees) is

s 85 1
) S8 85 Sy Sreiitos® g = ol Boidens 12% SPapas, *i‘.;.’.n Sod Heddoeng 10% J'DpR
Ol oADK 58 e a N
33,000 ﬁpa-;ﬁ;: ? - VS B% TEp Lipede biph. & Tiyatho owner SH Zodo Fosdts 5&
(1) 3,60.000 PEHTDEBY iy wtpalr D85 oy (rdraboaiin,
s 2,10,000 (3) 60,000 (4. 90,000

other sihud .

;ﬁﬂfﬂﬂim'nﬁ‘g two students 1uft o B ¢ 5 students left is 15 years then the sum of the ages of the
S5H05° e 35 Sol o 96 Bt & » £ 3

55:"'"1'{: 205 3 i
Dorgen (EE S5506° dorc CRE Pl SR 25 Sosdiore Sabiy Mo wanthibs

sl monthrt: 338 SEHaN D& BSFcrmh, =

- s aﬁ i . Bapth SUnd Bt
cﬁm:;;m D DB IS eomir Drghust ahe Aot Dovhe ity Sdbiy) 15 Sokdiores

soxd, D2 05 Dosef 2GS gt 05 &

. -
L B0 (4) 44

(1) 90 45
- &) - <
8. A buys an article with marked price ? gmatﬂﬁl?a; : 1
P E A 3 discount. In order to make a F'l"U'Et of 33-_'5531
A should sell the article for Tupees 4 3
o0n 2 1
Grrdhen (SE6S S5 Ko SEHIITE cobs® A S B2% o SosoDE v SLEHo A
208 SUH ediySod S’ o g6 Eniedhest
(1) 1,200 900, 800 4) 1,000
i . ) O] 80 @ 1, o
9, If the remainders obtainéd When 4" is divided by 7 and 9 are 2 and 7 respectively, th
possible value of n whichis & prime number is PRI R

4" 25 7 S8t 9 e Epﬁl‘,‘ﬁﬂ"iﬂ 53y Ehsiven Sthidre 2 HOdin 7 wond, Boed Rogyg wdds S0%ore aod n

2 4 e 5 By 3 (4) 7

10. Ix-1. x am'.’r:+2 are three prime numbers lying between 1 to 100 then 3x =
x—2, x SoSgix +2 o 1 00 8o &F) Srd SorS Soggen wowd, Jx=

(1) 94 21 (3) 27 [@] 15

11. If thHedifference between the compound interest and the simple interest on a certain sum at

15% p.a. rate of interest for 3 years is ¥ 567, then the difference of the amounts (in rupees)
accumulated at the end of 27 year is

a.:;m;?a-ba- 15% 3£B8e08° 3 SoddPives Jigsh, ©ba whSbe o 567 driraber woxd, 23
0%

% Dl ud edly Jomo #do (rdrabed®)
¥y 189 (2) 120 180 (4) 175

—y T

L kay MR
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16 | j
12. If x and y are the LCM and HCF of I—_lln and 1—5'5 respectively, then '!_j.z
16 .
a5 ° Gins) E.50.10. S00dkn A.3dr.gp. en S5HSM x, yoovd —=

1
— #Bam 1
10 y

(1) 238 (2) 1071 (3) 1666 (4) 735

e — o S -

13. I the sum of first n terms of a progression is (Nt DO +2)n+ 36 "than 4t torm in th

y

al

progression is

&8 BAS" 2wis nScdne Mo (NI DN +2)N+3) -6 ouf, idacts 43 30
3

(1) 20 30 3) 40 44 50

= N 4 4 —
.-I.q:- HE:b=3:5_,.l::d=4‘.?,h:f:i:_E-I:}lend:{_-:h:.i.-=.
&ﬁﬁﬁa:h=3:5,c:d"—;;}7,b:t=1: 3wond df e%b:a =

(1) 24 :40:60: 105 7:4:3:5 f3)g 5:3:4:7 105 : 60 : 40 : 24

7 —

15. 10 kgs of adulterated rice has 4% stone®initand the rest is rice. Half of the stones were removed.

Now the approximate percentage of stonesin it is

108do 8B Daigos® 4% orely Sbain WHOS gorio Ddiyo amman, TES SKo FoRomts bt O iy
) T80 DSt | |

(1) 0.98 (2) W@ (3] 2.04 (4) 1.98
- = . 'r —

16. 1fx 4, 5(x < 4); 6, y, 10(6 € y «10); 12, 16, z(z > 16) represent sides of three right angl

respectively and LEM::{F; i, 22 is F'; Pg PI where P
X, 4, 5(x < 4); 6, y, 10(6 < y < 10); 12, 16,

e B S TR T Y ’;';‘JII\PE P] a8 Py, Py, Py en |Sgm3 ROREe0 BaB, a, B v © S H.7r.e.

(1 6 % (2) 8 2 (4)

ed triangles
1 P P3 are prime numbers then HCF of

z(z > 16) en S50 S Bonis |Bebaiziooe ghasBooeh

@] 3,375
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ay ey ! Rﬂm I:
the ITII.'III'h_\}- hi ke ; TOCpgy oo ¥ 5500 s ﬂl". {rom his relatives. To i'.l"l:fﬂu‘rﬂﬂiie intEr.EEt FI'E'r Hﬂ-num"
to Tend his money o him at )% simp His elder

8 : " oy , - : leres :
S0 intereggog to lon, o LY o Faus ut: T SN IT]‘:{ qimglu interest per annuim.
F

i lﬂllT'I"." P WP 1t I ]
¥ amount of money from Ram - inlerested to take the entire

- l'nl...wn_-._..;h.,d by | ,
any . ake only T 5,000 and his father : : the
ible bt of it 1f Ram fong all the pifted amount, then by his next birthday

ount he ;
TRy S "-?5'5-?5 -~ i rets i

(1) 10,000 Y 08D stomns DG Blerth w2y Mairer 105 oo

19

20.

v wans 9,850 4 9,950

- = = -_-_-—I S

——— = - -
o L e—

— — " — o — =

If x is the lea t positive i
) fIve integer such that JB14968 xx 5.2 positive integer, then 1=

;‘;ﬂﬁﬁz;’?l-ﬂﬁﬂ xx ﬁ'ﬂ'ﬁﬂgﬂ)&%ﬂm S0 0% GHEPERE, x=
154 (3) {924 462

—_—
ra
ol
00 | ~3
w

If the fraction =, =, =, £, 2
2’ 3 E.. *g’ g are arraqﬁgd in descending order of their values from left to right
e 4™ term from the left ahd fifth term from the right is

513" 5'8’ 9 @ Do o8 &nﬁuﬁnﬁg S S (Eiodnd® D Sol KAl ©NGWNHD, 253D
"ol 45 Sto b HABH Kok EH Sore Indo

13 61 37
1 e g L 8 ; 1['3
10 @ e % [@] =

21.

In an Arithmetic progression, if 109 term is —14, 315 term is — 119 then the sum of 6 term and

8 term is '-

o8 woBE8E’, 105 Ho— 14, 315 Sto — 119 wavd 65 Stio HOa 85 Sere Jndo
2 S ) =95 (3) 31 L@ o

22.

23.

Erans1IAT - R AU

J142 + 116 % JE4T - V2197 x (125)/3 =
(1) 258" () 16 @) ¢ (4) 4

Five ive numbers are written in a fixed order. The average of first three numbers is 12. The
average of middle three numbers is 12. The average of last three numbers is 18. Then the average
of first, third and fifth numbers is

mﬁ@ﬁ{_ﬁw 5 5 Hoggoi (e, eopth Jnb8 S HSogge Siiko 12, 5D Sordh Sogge Srito
15. D58 Humth Somge e 18, wond Motis, Kurs Db wES Sogge Bk

(1) 21 (2) 9 [B] 15 (4 16
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1w

I Y~ w4

a=]

(1) o© [2)] 10 3) 99 (4) V100 - /o

— — - . S

25. I the total annual income of 3 persons A, B, C is T 14,20,000, A, B and C respectively save 307,
25%, 20% of their incomes. If the annual savings of A, B, C are in the ratio 12 : 13 : 10, then the
annual income of A (in rupees) is _

A, B, Codl Snrpth Sie 08 emrdire dndo 14,20,000 trdrdben. 6 smedbod® A, B, Cw Sthsm

30%, 25%, 20% Arda Bty A, A, B, C o TOE hPe 258 12:13 : 10 eowd, A @ns) =53
srabo (Srdrahod®) {

(1) 4,20,000 (2) 5,20,000 y 5,00,000 4,00,000

26. A man used to spend 75% of his income. Later his expesiditure increased by 24% and his income
increased by 15%. Then his percentage decrease in savings is

=8 38 08 worabod® 75% ity Fhors, stoars sdfl, 0l 24% S0 worabo 15% BOran. wand
80 wdd SHDS shrbse 80 |

3 3
1 2% @] 12% ‘B 20% @y 19%
27. 'The sum of 4 consecutive even numbgrs i%:21500. If the smallest number among them is 68 x K
then K=
el S5 350 Sogge Jmdo 21500, wast B8 Jogg 68 % K wond K=
M 79 (2) 89 (3) 89 ) 59

(2) the wages of a'boy for 70 days

(3)  the wages of a man for 39 days

(4)  the wages of a boy for 13 days
S Hoiped, DEHIOH erend L8 599 14 Feodt corot, ol

(2) 7000 a8 arends 5T 5008 Siirdo

(3) 390won o HEDHIB 5F) LD8 Srdo
(4) 13 6won af wreod 53) 4108 Ssirso

| _—_______
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29, I the Profiy 3
price then 1!: i ”"“"“l'. MM artiv . ~ : : ice 15

:.-'H .
mﬁ"ﬁ’*’g o

[
1: 50 2) Z
— n N ¥ @ 100 (4) .

1f % of its selling

T o, oD wydd Gt x% B0 o B 30 @9 "':Iﬂmm ye

Emm

] ] -
30. The ay Crage cost of

_ items " Y
of these (n + m) items js ¥ :313;;:5 and the average cost of other m items i5% 19. If the average cost
Nn:m= ¥y %

e Tg— — —

N S50 5wl
25 Y Beaties, ) -
ﬁ}ﬁﬁm g ua.:s;n.m_'ﬁ Mo Wit pb 19 trieabin, & (n+m) SPe At b
1:3 g ' :
— — e 2:1 My ® 4} 1:2
3.  Certain amoun e e N

— — ol —

32. i i ehvere
;l:tz.! incomes of A, 113, Cin the last Yearwere in the ratio 6: 5: 4. The ratio of A's income of last vear
- e m:nmeufrﬁmygarmﬂ_:.ﬂ..-ﬁpr B this ratio is 3 : 5 and for C this ratio is 4 : 5. If the sum of
elr incomes this year is € 12,380,000, then the increase in the income of C this year over his income

e Zoddwo A, B,Ce @m!g,ﬂr-:l‘:ﬁ:rﬂﬂ D8 6:5:4. A Qo K8 Soddl wordbo A0d & e
escrdive D8 3: 4. S 0G0 B 3.5 500k & 248 CB 4:5 & Soddto o8 sordre Ando
12,80,000 &rdrabgd,/C@nl, 8 Sofd)fo smrabod & Soddl eorabos® e LHkhse (Erdabed®)

(1) 2,00,000  (2) 1,20,000 [3)] 60,000 4 1,00,000

33. P started travelling from A to B and Q started travelling from B to A at 8 a.m on the same day.
They both mét each other at 2 p.m on their way on the same day. From this time P reached B,

3}.1uh¢f&req reached A. ’I}En the time at which () reached A is
>

(1), f-_iﬂ p.m /ﬁl 7 pm (3) Bpm 4) 7pm
TRt atiabo 8 Hdbut A ol B 286 P ®0ak B Hok A 3589 Q Pardimb. o O

1
Sogrsmo 2 fobed SOFtr wEBIER TAcrES® D, & Sddbo o8 A Q dsoaked :J..?.: Hobe

(1) @ 10 (2) B9 (3) o6 8 (4) od 7

NN

ET-13251-1A-P 7-A
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13 ¢ L=
® T v 3

—— _
1

35. Thereisa of persons in which each n has the same efficiency. A waork is done with this
group as fﬁtﬁ:ﬁs : I;:':st day only one perﬁgir:?urked, second day only two persons worked, lh_'ll'ii
day only three persons worked and this pattern is followed for the next following days. Following
this pattern in this way, K persons worked on K™ day. Using this rule, they have completed the
work in 15 days. Then the number of days required to ::ump]eig__the work if 15 persons work
together everyday is

o8 oo SErirod®D (58 S GwE) Fhdrie LGB, o8 300 & (808 DForr Jowomrth. Ivsd G'er 28
508", Dot B Bvo wiidd, SwrEs B koo émfﬁﬂﬂtﬁaﬂtﬁ:u dfard 5 Oerod & Iorard
siRdomrts. & DorarR) wibdtol K& e K Hod £0h 30 Uk & Jabdrd) odstod o HO0
15 Cerud’® 3rg decth, oxpo 15 ot K0B (H86e= 508D 450 8 = 58 Slere Soxg

(1} 10 2) 9 3) /& gﬁ q

36. A man tu-nlr.‘a loan of T x from a bank at the rate of 10% compound interest per annum for 2 years
and he repaid the whole amount of the |

pan.incinding the interest by paying ¥ 80,000 at the end of
the first year and ¥ 33,000 at the end of thip 2nd yeaf“l'hen x= W =

&5 853 Bold SoSfre .8 aryof Mol SoBHPNE 10% Tahps HE5E8 x trdrabers el bbb,
58 Soddrodod™ 80,000 drirabe S0an Bods Roddrodod® 33,000 E:ﬂﬂ‘dﬁ:uﬂ;cﬁdu =iy
5E8° Srenre Ando Aoy Bey Se eaid 1=

(1) 80,000 o o000 (3) 1,21,000 1,00,000

L ———

37.  Which of the following exactly divides 881280 7

Bol =06 881280 0 Ao phods S8 7
(1) 7 13 (3) 19

e —— —

(4)| 17

.
38. If10 persons working £or 18 hours a day can c
work in 18 days by working 8 hours a day, the number of persons required is

Serth 18 roben. 50t 10 5000 Kghen 16 Faves® o8 502
Hotoen iy 39 B 8 POt ke Sogg SUrONS, @ 530 18 Pwodt, w8

(1) 15 18 (3) 16 @ 20

omplete a work in 16 days, then to complete that

(1) ¢ (2) 7 [(3)] 10 Zx)g

r-13251-1A-F B-A ‘“MI‘.M”IH.HHH‘
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40, If ax+1_ay_

-l.’ll 0 ** =
B (3) 3 4) 15
41 i e — — e ————————————————

A Persom has 225 : : ;
12% per annum, I;ﬂm Invest. There are two schemes in a bank. In scheme A, rate of interest is

annually where as in ET B, rate ‘_'-’f interest is 16% per annum. In scheme A interest is compounded
Invest his I'I':Hne}r in EE],'E;C eme B simple interest is given, How _I_ﬂng f.'-“ }reat_g} should that IJE[F:EIII
i me B, 50 as to get the amount equal to the amount he receives by investing

Baxs f - BB ey ffnen & r:m.: i A& Soddons
&« zgiiﬂiii:fwﬁ 5 B0 16% 45 A& Mo 58548, ’%;%Bﬂiﬁﬁéﬂ 300 52,5:%
DR 08 o (4 el DES %) w0l Simsor eohAbEe ook, &S B & i

(3) 173 (4) 2.05

42. Aﬂndﬂi:andnawwk‘ : | |
independently in 10 d nd15 :
for 3 days and after that B js TE'F]EIEEdF 4 C‘a}rs 2 1;: %HF? respectively. Thrz-:',flwwked together

C &8:5smbe

Enﬁnmﬁwfﬂm,ﬂmauﬁﬁnﬁmﬁﬁmfmﬁ:ﬂvﬁﬂ*mﬂﬁ:&ﬁﬂﬁﬁﬂ F :
wdo ErD (Grdrabed®) | D 50 39 Sabcodt A drod
(1) 420 (2) 1,128 (37| 1.680 (4) 960

1 .1 .1, 4 ; ;

43. LCMof 2—, 4=, 5= is€ and GCD of 4, b is 1 then ab =
2 4 8B
L ol el R

EE, 41, EE o EArJ0. . obdoa be Kk 1ecns ah=
(1) 3485 6970 (3) 9670 (4) 7690

i

e —

44. T1,29,000 islent out in three parts for simple interest as follows. The first part is lent at 10% per
annum far 6 years, the second part at 12% per annum for 4 years and the third part at 15% per
annum for 3 years. If the total interest earned on each part is same, then sum of the first part and
the third part (in rupees) 15
1,29,000 Grdrahes S grream 30 o6 558 & (8o DS edpmr BT, T grred Sosdonl
10% F&ps 6 Sosdoro, Dot e SodETIE 12% Fhps 4 Soddred Hodn SmEs FreRy
RoBgyral 15% Faps 3 SoddyroD eipr aon. a8 rrop S9N 5§ Indo siesor aol, Fwss
grrio Sbahy Surids grrre Sondo (Hrirabed®)

(1)| 84,000 (2) 81,000 (3) 93,000 441 89,000

ransiAT A T AAAA R
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" the first 2 lakhs 3
_ _ B o tax out of the total annual income for | |
45. The income tax department 18 u.ull-:rcl;ni;x L:_: ey R kb A person pmd R+5)% of th

te of R% and (R+12)% for th _ .
::-51-:;1':;:11111.; tm'.'u:'.:ds the total tax. If the tax on the annual income br:jmnd 2 lakhs s € 20,000 for

him then the total tax he paid (in Rupees) is ) m
wcnaidy S5 o b o eordbos® Wi 20508 R% &y, 2ogos ol sordog (R+12)%
TReR dhy Hew ﬁﬂ‘uﬂ:.da,ﬁ S8 BPodR Ando 3b worabod® (R+5) edo. 0808 2 olus
ot b wedboD S 20,000 Exdchen sasd, A 3o o Iy (Erdbed)
(1) 32,000 (2)| 24,000 25,000 (4) 26,000
i isha finish the same wotk 1nv18 days. 15 children

6 women and 9 children started fhat work. They worked for

46. 9 men can finish a work in 10 days. 12 women can
can finish the same work in 24 days :
12 davs and then left. Then the number of days required for 6 menand¥ children to complete the

remaining work is

(1) 16 days (2) 18 days (3) 12 days (4) 4 days

908 Heoipen e 599 10 Favos® 0 Scbriet 12500 Gened 522 18 Feod’ g Sabret. 15
Hod Hpen &3 300 24 Fared® Grg Sabroth. 6308 (Heo H0un 9508 dyw 8 HIV (Fioford. 12

aren 57 IS Stoord ot S0 560 ek, sowd DADRSIN 6 Fabers 610 Hibpeo Sdcko 9

00b Dok sdohs Fae el by
(1) 16 Bavex (4 18 Blaven ‘!ﬁf'llﬁ"ﬁ-'m 4 Bfaren

47. A can complete a work in 10 days. B can complete the same work in 15 days and C can complete
the same work in 20 days. They have campleted the work along with a fourth person D in 4 days
and were paid T 30,000 for the whole work. The share of D (in rupees) is

Aek 500 10 Bwed® g Scorp®iB o8 599 15 Faodhir Hbdn C el 500 20 Feud’ss o

Bdbifoth. >H @ I wps G DS 508 4 Peud® g ded Hc « Indo B8 e 30,000

rdraben 08 BPodolol, eowd.D dnd) rtr (Erdrdbodt)
[(1)] 4.000 (2)., 16,000 (3) 7,500 }a/ 1,000

48. The marked price of ant article is 15% more than its cost price. Itis sold to a customer at a discount
of 20% but 5% GST was also charged on discounted price. The customer gave this article to his
neighbour for T 5796 thereby earning 20% profit. Then the selling price of the article to the customer
excluding GST (in rupees) is
8 Sy Es)EE68 3o o0 B Bo Kol 15% JSe 4ol AN ek INGERHEEDS 20% SHoHE
ool sond dho Hop 5% éaﬁ R0l & AVARHTEIG o SHHH edd Sdhhodls 2 "

ol 579 trirabos eand 42Y) Thot NIHHIS © 5P elys 66 Erdaes)
(1) 5,000 ) 4,930 4,600 (4) 4,830

49. A Student scored 72% marks in all the three subjects A, B, C together. Maximum marks in each
subject is 75. He got 63 marks in A, He scored 64% marks in B. Then his score in C is

A, B, C &3 5ot domgomeqofe® S0b e dom) 72% smtipen Brometh. (58 Srorgodosti g S0
75. A& 63 Srtym Srowetd. B & 64% Srtipen Sromets, eand C 6° e Srobd St

68 % 2) 91% 66% 4) 62%
@ o By @ %
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cular track. X started

50. Two persons X and Y are at two diametrically opposite points on a cir . directon with
running in anticlockwise direction with speed v and Y started running in clockwise direction ¥
: £ - i | inutes. Then the bme
speed 2o at the same time, They crossed each other first ime 1n Elmm}l : g naly
(in minutes) required to pass each other second time when the time is counte
commencement of their running is
L8 TS U BEH Koo X SO Y mgeEgore DM avng. X G 036" virodir, Y 206
836" 20 Brio8'r e 80 Storb Antien Bhpth. T LEETELD TncBFD 29Mre Sod CErD. T B
R0 Sndes DPIHBH08 Bots IO S LEBTEGD rbrds 3§ Sabo Abires®
i) 4 @ 2 @) 3 (@75
51. 'H‘"'* age of wife is 6 years less than the age of her husband. The age of wife at the time of her ond
delivery is equal to the age of her husband at the time of her 1% delivery. The ratio of their ages
ery
when they were married is 15 : 12. Second child was born after 8 yearsof their marriage. Then the
rahio of their ages when they had their 1% child is .
BP0 Sy e ¢ Scbiy) Sam 6 Sosdiores SS. et Dol ISSSDHEEpth ) el Sabdy, e
oS SRSPSGp &) oD g Sabipn SEevo. 0 Drdrwdl OB B Sabdne DB 15:12
Driro wowd B doldjores ol Dol doondo BDAEE. woldENGd Soprso SO A8 o0 Sabipe
~ep8 o’
(1) 10:7 /4'21/14:11 (3) 189:16 16 : 13
52. The day of the week on 12" January, 1863 was
(1) Tuesday (2) Saturday (3 Sunday (4) Monday
1863, =550 125 88 rdod®n D @ dcs® o e
(1) Hoohgarto (2) #2ardo : ;fm [4})] #&Fsarsce
53. In a 1000 meter race A wins by 19 séconds if he gives B a start of 40 meters. In the same race if
A gives B a start of 30 seconds, then B wins by 40 meters. Then the time (in minutes) taken by B o
run 5 km is
5 A Sof 40 Hoeyd ool B eotmr (SGofodd ef 1000 Dbl Strb Bodod® 19 hfog dcvd®
A Rendntd. o8 SoBos’ B oabedtds 30 Doy dthard A nabendds, 40 by 8ord® BRwint. woxd 5
8 i Srovy SEndoead BE 5 sabo (ADired)
_()—T0 2% 12 (3) 105 12.5
54. If 13th December 1990 was Thursday, then the day of the week on 23™ May 1987 was
(1) Thursday . ©(2) Friday (3) Saturday (4) Sunday
1990 Aol 135 B8 Hthorto woxnd, 1987 & 235 86 otod® O BF &l & B
55. A bookseller gives a discount of 20% on the marked price if it is a cash purchase and a discount of

10% onithe marked price if it is a credit purchase. If a person bought 70% of the books by cash and
30% by credit, then the net discount got by him is

o¥ e DES o Bobd BUR HEOS £8P 20% crondl, SHUP 30h 3988 $5p 10% oronba
ST, a8 58 70% fhsod T8, 30% JRoh e Foll, 308 SOy 288 rond

(1) 15% Ef 16% 17% (4) l-if: o
ET-132511A-P 11-A 00
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15 rasi inst a wall and ground. Initially the bottom of the laddg,
A ladder of length 65 meters is resting again of the ladder on the wall slips down by 8 meters gp

: - the wall, If the end S 1
Efm“;} Eﬁmr moves away by x meters from its initial position, then the area of th,

triangle having dimensions 3x, 4x, 5x (In sq. meters) is
65 B DS Ko DS 2 KD H0ak Sup wHED aod. S A G0 gPAEx AfE %08 25 doug

sntol® ach. BED wSElD & Ay 55 B bty 8008 Hbdm dup of) TR Sold drdore &0 g
ool x Sototly wBNE, 3x, dx, 5x Pode SDF (Behe Ferogo (5. Dotags®)

[y 1176 (2) 1074 (3) 1254 (4) fﬂﬂ

57. A solid metallic cylinder of height 4 ft and radius 3 ft is melted and converted into a solid sphere.
Then the ratio of the lateral surface area of the cylinder and the surface area of the sphere is

R 4 wirbe, Tggo 3 eibrben &) el HN6%e Spded) 500D el HIftdore SO, waud Hpdc

Gt SEso Jergro Dbdin Mo God) asdie Jevorw 4D /(21/
(1) 1:2 (2) 3:4 B3] 2:3 y 815

58. The ages ﬁfhm:hi]qflre:?. A and B are such that the sum of the values of two times the age of A and
Ehmﬁmeagunf_ﬂmﬁmlﬁﬁthan the sum of the values of five times the age of A and 2 times the
age of B. If the difference of the squares of their ages is 36, then product of their ages is

A 0o B &3 Bpe Scidnew ser aamon. A Sabipsh Both By, B Scbin® sonh B DeosedH L5003
ST Ingfo, A Sabiinh eanth By, B Scbdn Both Bl Densds S05E 5%) Ango Soll et SEyS. >0

Schine Stro P50 36 wons, 30 SabEne omo
_on  pe EEwe

59. ;lset A of 10 pipes can fiI]ran empty tank in 10 minutes, a set B of 5 Pipes can fill the same tank in

}I:';nutes when the tank Is empty. A set C of 10 pipes can empty the same tank in 20 minutes

w Il:::LIE full. One pipe EHEI';LEHddE? to set A and set B. Two pipes are added to the set C_ If all
these pipes are opened i In min) i ' 1

S mmutarmus}r,thenmehme{mnun]mw}uchmeempt}rtankwﬂlbe

- 2o Nmiro A el ol BHD 10 2ired’ Dosren. 5 poe Skeo B g &%) »d &5 8

Aol dosror. 10 phe Srro C ot 6 o FED 200iros® yrb Bayion. Sfro A

T-13251-1A-F
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61.

207981

Water is filled in a tank | 1.4 doubles after every
3 minutes, If it lake:l 2 i such a manner that the volume of the part filled

: - ad o fill
e 7 mi i i ) required
one-cighth part of the tank nutes to fill the empty tank then the time {(in mi ) req

fﬂﬁ Eriha?.g-uﬁ: DAL M ST T E%D:Eu u{ﬂ%&#ﬂ E‘Qﬁi 5]!':!] ﬂl:l;.ilﬂﬁﬁsl:h.“-l. I!”'ﬁ' E'ﬂ mlf-ﬁ"mg 27
sbaren B8E, © S8 85 Hom Doscns 8 daabo (indrod?)
(1) 15 [Z] 18

b2,

(3 21 /m’ 12 )
:: a tace of 4 km, A beats B by 400 m or 2 minutes. Then A's ime over fhe course (in minutes)

48 3.0 LM Sofoah Ba A 400 tl:lﬁ-:lﬁ AeE S 2 Hodwey Boeat LA ﬁﬂ:iﬁi.:ﬂ'ﬁﬁ e5 ﬁ{g
L] * i : ﬁ 355' "ﬂ" w

_m_zri _ ,})/m (3) 22 18

b3,

I..Etrﬂ.ndhhems

pectively radius and height of a hollow C Erib:I ipe. Two maximum solid
ght 'h' each are placed in the - Fof €

A s cylinder such thatthe céntres of the two circular faces of
cylinder lie on each of the base circles of the two éonés._Then the ratio of the volume of the

complete cylinder to the volume of the empty space inthe'gylinder is

=8 DRy Spdret Db Suto S0 Jfer SEEMIEREMn h ekHomo, LSS 'h' Dy KOS

D0 ABE o8 dobhiguin e drdo @wl) Boths HESE Speive Jo|Bdnes aEES © dobPHe grjTed
ﬂuﬁi!.:u!.;i aood, Sarpil :1‘1.1;;’:::- R DRSO ﬁ:ﬂcﬁ#mﬁﬁ b

64.

65.

(1) 8:17 . #M2y 2:1 4:1 [uaﬂ%:a

: G0 Gof) PSBESrEre D

(1) 35:12 (2) 24:23 @I :5 (4 i3

= —- aha—n s = — -

If & man is celebrating his 100th birthday & Thursday, the 15t September 2022, then the dav of
the week on which he was born was ) ‘

(1) Saturday (2) Thursday ~, (3) Friday

Gold is 17 times as heavias Alifminum and Copper is 7 times as hea

_ vy as Aluminum. The ratio in
which Gold and Copperateto be mixed so that the mixture is 15 times as heavy as Aluminum is

BOME0 B Surglldby SEYH 1706 ooh ol eeriaho shd 78k, norrto, The Do
warhoho ohHH 158 oty aclerr poretio L8k T S00E, =48 o

(1) &Daedo /m/ !'Eﬁ:miﬁn (3)| HE=ve (4) ensSovo

bb,

e

Two taps A and B can fill an empty tank in 32 min and 36 min respectively. A and B are partially

| 4 th th
opened simultaneously such that A allows only z part of water and B allows only % part of

water; Then the total time required to fill the empty tank (in minutes) is

2] 4
Ooth Hhevowen A, Beo a2 g0 &EN ShHre 32 D HBc 36 ADdred® Jodred. Aol 5 5 doi

m&mﬂm%ﬁﬁﬁhﬁ:ﬁﬁ.}ngvﬂ,ﬂuﬁnﬁﬁ#ﬁﬁnmm sdpt b FED sl
SEehs Jndo Sabo (Ddred®)

(1) 25 2) 35 (3) 38 [(4)] 24
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hands of a clock be at right angles for the

cen 870 clock and 90 clock will both

§7. Atwhat time betw
first ime 7

¥ .
7 min past 8
(1) 15% min past 8 (2) Eﬁ_“ P

3 hin past 8
(3] 'J'Jl min past & (4] ETﬁ min p

-l-lI]I

e von Bpod° dotron ?
§ SoBctm 9 Fobe Hof D Swabes® HEdREeE™ Both Swegen Todnrt R

9
(1) 8 foke 35% fEndpet: 2) 8robo26— Do

(3) 8Hobe 19% 87 et mnm :?% GHY

68. A liquid in a vessel has 8 parts water and 12 parts milk, Then the part of the mixture that has to be
drawn out and replaced by water so that the new mixture contains water and milk in the ratio
7:3is '

w8 ISR (G506 8 grrren b HBcko 12 ey Bren aTmon. Houd HFHE S HodH o VG
7:3m somrooll, MIED WFDRS® dod el REl b oond 568° 98 3aird® « erifa

& 1 3
/0/3 B3 Qo 3 @ 3

69. Let C be centre of a circle of radius cm. Let A and B be two points on the circle. If length of the

arc AB is 15 cm, and the area between arc AB and chord ABis K 5q. cm, then = K+sin 3=

25
5o Wmm%mﬁu@a Cedomrmo. A SHbak Beo o %03 Both othden msigomro,

a0 AB2RED 15 ek 2eatn ooso HE,HEA.EH'%TTE? o K& 2o.fh sans : K +sin 3
. . P Pt SN o=

. 25
(1) o (2 3 /(z/:au.s 4) 25

(4) 22,124.60

——
e

14-A 1II|II||W||HIIM_MI! IIIIH
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14
kmph (3) 2—15 kmph 4) 27 kmph

8.5, Frxost .
0% Bdirdod eede J€Bua% B8y _bdisendd Sdalo fod,

g

]ﬂ ﬂﬂ}ﬁ‘ﬂa BUNrGMm o

Sdodbo Sof Efm:n;?i Eﬁ :m”% SR ot 158, 5, Hrod® Bafrdon afHhasSh off scbenlio
V. SO of waberdd Sl IEHSSS SRS ST0s eE

(1) 50 .
_ - (3) 45 (4) 48

?3.. E avEmE‘E ﬂ = " -
Ih ge of A and his wife B .41 at
A, B : SN I present. Three years agn. th
at th;n: their son C at that time was36. After two years, me?age ::-fEEHm]]' EIJT?EE el ot
me. Then the present ageal A (in years) is times the age of C

74. A train from station A started at 8 a.m and travelled tow i :
el ' : ards station B which is at a dista
390 km. T!Hs train travelled with a speed of 65 kmph for the first hour and rest of th: C;;i
travelled with a'speed of 50 kmph. Another train started from station B towards A at 9 a m with
a speed of 35 kamph for the first hour and with a speed of 50 kmph for rest of the journey. Then the

time at which they meet each other is

(1) 1240 p.m (2) 11.40 am (3) 1224 pm (4) 11.24 am

&8 Beo RS A S0l addabo 8 Hove, 390 ..o trbed® &%) R9% B 23% achesditon. & Ben Hobk
65 8.2p.0 Jrio8® Ants 1 Hob [Bdakrdod, HADS Sibabos® Mow 508 .o Fxos® Bardonod. HbE:=

Beo B RS ol A RIS 39% etiabo 9 Hobub B. & Ben robth 358 5.0 Jrod® Znrs
ot [Bairdod, ADS (Satrred) HMob 50 8.3, Sriop” |HairdoDod. wand w Both B 50H B

(1) Sogegsmo 1240 (2) edabo 11.40 Sgeesmo 1224 (4)  addbo 11.24

15-A OO
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e stream in 90 min and the same distance againyg h
in slill waler 18 spMmo n hnth the directions., Then the H'ﬂ‘ln
El-mﬂd to cover the same distance in stil] Walg,

=g A boat covers a distawe of 66 km along,

etrpam in 110 min. The 5lr'-rl.'|.l of the boal

. ] _lll .
required for the boal moving ith the same

(i inutes? 1

. 5 Ad% =0 Sond 60 8o droely W ampapodthir Hbd wd trovr) ([Harsis Hifm"m”" 4T
et cardosKet. ath Bludtir DHURS 66" » HES Ho ehB. oo o SESS Vg,

(1) 96 2) 9

76. The speed of a boat in still water is 5 times the speed of the current of the water in a river. This bq;
ath - . .
can travel 10.2 km upstream in that river in 51 minutes. In n of an hour, the distance (in ki

travelled by the boat in downstream in the same river is |
Do N6E° w¥ SES Jro w8 $66% I8 Porde S0l 5oy o IS (S0 5608 088 & Sa

3 4
10.28.50.0 droey 51 Ddrod® [Sairdostom. Kotk 3 Sdo oo, o $06° & SES A8 P
Soal (Hairdod drto (8. &.wdd)

_{1}_14‘4 13.5 (3) "2 11

77. :ﬁfﬁ:?ﬁ%ﬁi is E:Iuwei;:en the marked-price of an article then a customer gets 15 mor
21, an the number of articles he gets when the discount i
marked price of each article (in Rupees) is o A

8.8 5 el G653 15% dhoPd @58 e S VAT 1,700 ErZrabeth, $Rods efbSbossol
53) S0 Soxg Solf 15 Shew eiSorBOBHED. cond LE) S5 Tt BB K5 (Sodrabost
1) 2 @ 20 . (3) 36 “; ; 48

(1) Friday, 12th day (2)
(3) wEdﬂEEdﬂj", 15th 'El.ﬂ}F H.}
a8 Kldirto it 5 A weiisonr

pam i Borbebol. e Kidror®y REoartio
R B8y (SeBoll 3 Gfand bty 2 o 12 Moses Siatens
,Z} 125 Bar HiEariso gl Ee 08 11AM SrRii08 ?

Tuesday, 15™ day
Saturday, 12th day

125 8% d0apso

ET-13251-1A-p
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80. The ratio of : s :
is filled 1 '“:h: ::E.!.lnh::-ﬁ of 3 containers is3:2:1. Each container upto their maxl
containers ave 5 5. EH.H::, r;[ Imill-; and Waler, The ratios of milk and waler in the
15 tlaken out and ll;ﬂ'lr;r'm ' 1 respectively. One liter of mixture from each of the th
H'l.ixtum 15 X: 1. -lt- [;“l.-' L IT'l-i:'.'{'E'd N a new container. Lot I..hl"_" ratio ﬂl' -L'hr_. m"]]{ ﬂﬂld- w;'.i

' e mixture from each of the containers with fullest capacities 15

another new container then the ratio of milk and water is p:q Thenxp:yq=
Sooeiy :fﬂ ﬁﬂﬁﬂ':"u V8 3:2: 1. 50 v 8 TP S0Srmre Dt Sen, Aoe DESrT SON aﬁﬁ:ﬂ:é
s SOt ) DRDOA e SO Hw il Sesrm 715,515 odko 1:3. 0

B :
ﬂms‘ﬁﬁmmﬁhﬂﬂﬂhﬂfghﬁﬁ%m:ﬁm & DuFSor® Sren, Ao A8 X1

S0, 158 ety T SBSmeadt
S & |
N8 p:qwand, 1p:yg= A lESreh DI B8 @6 £o08,5d) DiFiod® Sren, MO

1 455 ;
SR ﬁ/ﬁmﬂ? @ 385:481 ( q4) 257:352

81.

L capacity
mixtures of 3
rec cﬂﬁtﬂiﬂeﬂi
ter in new

mixed

A has started a business by investing certain amount. B joined A after 2 months from the

comm : . . ; .
encement of the business by investing _:. times A's investment. 2 months after the join of B

in the business, C joined A and B by investing % of A'Stivestment. After giving 8% of the profit to

i f;r mznégm g ﬂ*re business as working partner,thé rest of the profit amount is distributed among
o EIE;:!I according to their investment praportion. If the total profit at the end of the year is
A00, then the total amount received by A from the annual profit (in rupees) is

E'od Ay igede =8 Al ooy [@rbafomrth. spdrovd (Setobos 2 Bue Stoaed ATepnls
4 !
— Dép Dipols® A & B o Fﬁ&ﬁﬂ#'ﬂ'ﬂﬁﬁ 2300 dhard A Dipnll —i. & Hoih Dtygeald A, Bos

3 .

C Soeth. g8 Dreth i SVELEEAtr A8 oogiol® 8% alys SHard, cogios® DNDS o A,
B, Coth o8 Dipnthe edhdrerdl@Siboo™ Sobd Sk, Soidmosns Budo exgo 25,000 SrarahBd,
FRE ergfo Dol A ol Do ey (rdrabed®)

11,000 (2) ¢ 105000 (3) 9,000 /mﬂm
.

82. A faulty digital clock counts 10 seconds of a normal clock as 1 min. of it and 60 such minutes of
itself as 1 hour of it. "This clock displays time and day of the week. On Monday at 12 noon it was
on par with the mormal clock. On the same day when the normal clock shows 4 p.m, then the

display on the digital clock is
(1) Monday, 12 Noon (2) Tuesday, 6 am
(3) Monday, 2 am (4) Tuesday, 12 Noon

Fortn HadrSost 10 Dol srerd), S50k of Sa8bd Addrdo 1 AMhorsdr werod
60 Dindresd e Kotre BEg0D. & KAdrEed® Siabine HBdD TEeE™ B Botr ARRE" EALIAM.

o8 Sartio Sogrgeime RO 12 Kobeh ob Forts KEdrtos®d ;Sa’:mﬂ?:h Srbotod. et Ba Sin
) 06D Bficho raboldo 4 Kobwons eipth Sawd ridrto 856" E0bota
,{; oo Sogrgmo 12 Hoben Soorfdarbo atabo 6 Hoben

(3) dardo eabo 2 Hobe [(4) sworigamso Soerssmo 12 Kobes

o I
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125 m/ min and 100 m/min respectiyy,

oeed of : : -
b h!r::!:l-: in the same direction, when will they b,

3000 m cireular track
1 the starting point for the first ime ?

A and Bwalk arommud a

3. : ' : wsly anil
" R T o
(117 s min L 80 man (2) Bl m'." & 100 I11III‘1
(3} $0 min & S0 min (4) 60 min & 100 min G o o
A, Beo b 2000 Segi Himstsy 5 ooy ScoRme 123 s/ Sobaso 100 inm f:; b § :ué'i;; é,;
o Dot ol o8 B¥6° UG SuE Soolh, dod Sidrdd T0g0r Bhvia S
Jod Bl Toehiel Srtog Dotbsy 35 B0 Beoarlo 7
(1) 60 Sddres & B0 SDodpes (2) ofodren & 100 Divdpen
(3} 80 2fndren & 80 Dlodren 60 Dopdees & 100 mfp,gq
§4.  Anempty tank can be filled by pipe A in 4 hours, pipe B in 12 Weurs'and pipe Cin 6 hours. All the

three pipes are opened as follows. Pipe Cis opened at 6 a.m, pipe A at 7 a.m and pipe B at 8 a.m
If the tank was empty at 6 a.m, then the time at which the tank will be filled is

(1) 9am (2) 845 am (3) BSH Fam (4) 9.0 a.m

8 ¥ 80 A 63 1% 4 Howedisr, Bed 29 12 AelBeiir S0k C o PR 6 Moo ir Dodned.
S0l Doore ef) e aldoran. 4o b robeH BRI D, ababo 7 Mobeh Do A D SO aldhe
8 flobo 1 B Booete. b rioke &8 ol ey 3 &8 o SidirDE Dohdot® & Sfdbo

(1) atiabo 9 (3 a0 845 4. @] acaw0 850  (4) asamo 9.10

B e = ——— —— — — — e e | —— m——
- =
- =il — ——

85. Two su!i{_i metallic s phﬂ-r?s of radius 4 'Em:hﬂﬂ and 5 inches are melted together to make a solid cube.

the cube (in square inches) is

4 worberen HBA 5 wokgsey RS fio Both i S Rieeuis Bolosn Kok e.8 K Forsstnd Saboens

S0Romrty. SoarR) Fh HBebe 6355 wore @b .
g b E'm oy, 8 OF0 S0 eonilond, o ke o) Jndo anbss

(1) 792 (2 729 (3) 563 E/qaa

B6. A,BandC started a business with
ted th investments ¥ 1,25 oo
F & ) ir ¥ E 1.!'5[LD|:H]
our months later, A further invested T 75,000, After 6 months Immmt;r?:tjfmmﬂﬂi{:i l'
1] .lE

ment of the

profit received s ¥ 1,20,000 and A's spar. § re in the ratio 3 : 2. The annudl
nvested by B(in rupecs) is ' i fhe profit is ¥ 28,000, Then the additional s pon4

A, B, Cen St 1,25,000: 1
AU 1,50,000; 2,00,000 Srdscsye; =
SCmE A Bober 75,000 g = A e DPDOOEE e8 e s R
A tﬁﬁu&ara?au:%ﬁz ?;,5:.; :;';:

eSSomr 3 - 2 nﬂw ﬁ;?:']'. 4
BBt o 28 Weoi hegodm . 1,
© TFoS A s 28 1) Srirdie, wong ’f;t;ﬁ?:.uh‘ ?.:%X:EE;;EEJ:F izu Eﬁafmﬂ‘;ﬁ; .
)

(1)  1,80,000
[@)] 2,
— o @) 210,000 (4¥” 1,50,000
-_-_-_"'_'—-—-—._____ ¥ ¥
=S “Wieiiy
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87. A and B started 5
months A h
of A in the o

three
business witly 2 Lo, 00 : ir investments. After

A i AU and ¥ 1 respectively as their inve ; share
S “h"lf"‘f""" © 5,000 and B Mvesied 4 ﬁ.l'![r]:J rrmnr::;rr Al the end of the year lf ﬂ;!Eﬂ =
otal profit is equal to the differonce of the shares of A and B in the total profit

A =0T Beo 8% vdvondy 365 2 16,000 00 HLc T x o Bigeoed® [Sodomty. &t Jve SUS,

88. The Speed of the stream i5-5 e :

id 5%3. Then 16 Itr of mixture was drawn out
and replaced by same quantity of milk, Now tHe firesent ratio of milk and water in the new
Mixture is 7 : 1. If 8 Itr of the mixture is again taken

‘out from the container, then the quantity of
milk in the mixture remaining is & ! ¥
(1) 14 liters (2) 12 liters () 10 liters (4) 7 liters

o8 g8 Ik, =50 8 WEsost &mwﬂ NE EE) (56 DA 7 1. e ol B0 8 by
VL SEED 67, DRADH DFSos® Kl o Hbsirmemc

14 by (2) 1280 (3) 10 bes (4) 7 bes

J0. A train overtakes a person whaovis walking at the rate
the train in 15 seconds and anﬂﬂm- person who is walking at the rate of 8 kmph in the direction of
the train in 18 seconds. Theil.the speed of the train in kmph is
&8 Bew, Mok 6 éﬁﬂiaug_m o Deo (Bairdod ¥ 5,884 pus RESR $:89 15 T8cted® orinition
D8 w Ben [Hairdiyd) G45°F rovH 8 B6they Fros® D) SOE 580 18 REokud® minkon,

©ond fob o Beo Ilo Bt st

[ 78 (2) 75 _é(a}/ﬁ: (4) 100

91. The speed of a boat in still water and the speed of the current are in the ratio 5 : 1. The distance
travelled by the boat in 4 hours from a point A to B downstream is 24 km more than the distance
covered from B'to C upstream in 4 hours. Then the time (in hours) taken by the boat to travel from
C to B downstream is
RHoRs JO6° 555 Jro Hodin HO Hardr Srre 958 5: 16 SES 4 Hotos® Doty A %ol B
BES° (Bairdods trto, 4 Mobed® B ol C & HA [BHaralE 6050 (Sairdods & L S0l 21 - L

VS, egnd Ciool BS [Barir 886 & 563 (Bdirdoscd8 38 Sabo (Kobed®)

@ 2 3 3 @

fud | =]

T T
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97, Let C be the cenlrc of o

B be two puintE on the circle such th

; the remaining sectyy
|[alEB is removed (rom the circle and from '
ACB = Y. The smaller sector ACH 15
rrm:imun‘!. cone is formed. The volume of

T odigioln © ido® A, Ben ol Dotiapuo. 80 ot

93, A Copper wire is bent in

4356 .3 sq. cm. and if the same wire is 1
is

L8 o Bt SioBrers (Bebererdorr Somelh. & [Beheo ansjpago 4356

o8 wifmss trdor Srdyd o Berego (SH0R 0. a3 CT%
1831 (4) 7545

J3 . 00,2, B el Brid

94. If the calendar of the month of Janu

ary, exactlgn'fﬁirliﬁdes with the calendar of another month X in
the same year if it is a leap year or with the talendar of another month Y in the same year if it is a
non-leap year, then X, Y are respectively b
(1) July, October 2" April, November
(3) March, December "o /%) May, July

By Sosdyo sansHi w358 FAgRoet of Sos o H@mE Jo X &) sygoorhs’ psorr &0 &
od; b5y Soddybo SRHD, aﬁ:ﬁq;aﬂ::gundﬁ ed Sosdtod” HEdE Ao T@E&ﬂuuﬁﬁﬁﬁ piydore &40
sol, oa X, Yo S&63r

g offef WL (2) D96, $50u8

—--_l

(3) s anoss L) (4) B, o=p

.
95. The speed u_‘r' cﬁ?ﬁ,;s S tim&sq the speed of car B. If car B covers a distance of 225 km in 3 hours,
then how I:_mgﬁﬁnecar A will take to cover the same distance ?

(3) 2 hours 15 min.

(2) 2 hours 30 min,
(4) 2 hours 45 min.

ol Hmﬁnﬁﬁﬁﬂgﬁvﬂﬁ A Bex. E'l-ﬁﬂt.mﬁﬂ'
5 2258 5. droe g
mmﬁagaﬂsamm? Y 5% B 3 Hond, of &t

(1) 2 Hoben
(3) 2 Hobe 15 Do

‘@/Eﬁ“mﬂuﬂ:ha'm
(4) 2 Kot 45 Doodee:;

T-13251-IA-P
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96. The arcumiference of a circle is equal Lo the perimeter of a square whose area is 1089 sq. units. If

length of side (other than its hypotenuse) of an isosceles right angled triangle is equal to the length
of the diameter of the given circle then the area of the triangle is (in sq.unils)

1089 S.ar. Sevogo Mo of SSbHo dng) iy Fedd ol HiY 06 Sirdo. ol von Fe SMigErdo
[Bgher Tos) o8 Gheo (R Eo sthorr) Guf) U g Hdo Aot o EHD HErEDE, o (Bgdeo

To¥) Frog (SE5H dirdis®)
882 (2) % 441 (4) 363

97. A wall clock gains 4 minutes in 12 hours and another wall clock loses 2 minutes in 24 hours, Both

are set right at 8 a.m on a particular day. Choose the correct time*when these two clocks show
exactly the same time in the immediate future.

(1) 10 a.m after 84 days (2) 9 am after 60 days
' ,,.{-3‘]"'.' 8§ a.m after 72 days (4) B pm after 75 days

af AE KAdrdo 12 Hokedt 4 Dobareds ﬂﬁmnm'ﬂ'm;u:rﬂ- SiBdin SobfE AY RAcGSrESo

24 Robes® 2 Aindred & . &8 DOHDS Gor aBaLBBNGbD Bolostir Sie 36 3B D,

5 EDYRO & Dotd filatrore pfore o8 Surd) Wihodko Jipt slbrthos’ « Hkairg Hpstod.
(1) 848 dong auobo 10 Aoves  (2) 60 Beraiiond afdho 9 Hobnd

7200 Sogs atcbo Briobes  (4) 75 S dowd ovd 8 Hobers

98. A Shopkeeper allows 20% discount on the mirked
selling each

I price of every article and gains 16% profit on
article. Then how much Fﬂmrﬂ' above the cost Fl.'i{:E‘ is marked on each article ?

a8 SDencrhn (55 S P BESSEOY 20% SNohis eHHBHRG HBEH B SikH DEenosEe
o 167% ergri)y Brotbanth, scndBEENGD FHde Soff Jod oo JERSM (D568 Jo dotnol 7

45% (2) 48% % (3) 42% —Hr—ars

99. A can beat S by 20 meters ina 200 meters race. S can beat V by 10 meters in a 250 meters race. In
a race of 1000 meters, A beats V by (in meters)
200 Soesgs Sehor> HoBod® S5 20 g Fs® A L&D, 250 Sobrs $tr B6BoE V 9 10 it Bes® S
LD, 1000 oy $8ib BoBed®, Vo o og dod® A L83H 7 -
(1) 125 /@/:; (3) 216 (4)| 136

100. Two trains X and Y are running in opposite direction with same speeds. Both the trains are of
equal length and they cross each other in 10 seconds. If the train X doubles

_ its speed and
Y triplﬂj.if_t_fj“'ipeed and travel in the same direction, the time taken to cross each other is
(in seconds)

00 ey X obdin Y en 055 2.8 Jrod® Sintdaman. Both Bth o8 S KOR aamow Hodakn e
TR HOEES 10 DEogs® cendbamon. Beo

X 3o BolodB Beo Y Ho SurbodBiispd o o o6
BardR, o0 eSoRTEs ool S5Hako (ko

565%)
EEIII 13 2) 12 s {Siﬁ @] 20 B
AT 214 LR
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‘ ' th-East _
101. A, B, C. D, E are five persons, A 18 Soulth-West of Hf 13 15 North ";_f C. E ]I: Nor of D. p 1
‘ ‘I.\;-:si ofE ABR=BC=CD=DE=1km. Then the direction of E from A ¥

(1)  South-East (2)  South (3) North-West (4) West

A.H.E.D.Emnﬁ:m:&ﬁw.Eﬂm%ﬂﬁﬁﬁfﬁirCﬁﬁﬁﬁﬂWHmﬁ&ﬁng’:ﬁfﬁﬂﬁi
C émSs. E8 5558 3%% D ath. AB=BC=CD=DE=185. o8 Aol EZHES fo oy

wrheho (2) &&wo TS0 ({5

o —— e e

E— — e ——— —— e ——— R —— ¥ .

102. Below a statement is followed by two arguments numbered [ and 11 Decide which of the arguments
is a 'strong’ argument and which is a 'weak’ argument.

Statement - Should the M.D. of the com pany X be femoved owing to his consistent failures iy
earning of profits for the company .

Arguments :

L. Yes. Because all the competitors aré.consistently growing and making profits.
II. No.one more chance is to be given o M.D.

(1) Onlylis strong {.2} Only 11 is strong

(3) Iand I are strong (4) Neither I nor 11 is strong

Bot 2.8 B0 Dons 1V 1l Soagod Kr0oSess Both ESes sotman & PS5t D8

=0 8 'mbﬁ@ﬁﬁ‘gﬂm Do, ORI

[BETS0 1 SohE Dot oure sRod) Bhtod® DPeTdotots Lot
e

S MD. X % FoiodSSaebobms 7

L o5 Pl oot H8 T egred Bhod DIDETHD Kk,
II. =% MD. % 8@ essso s,
(1) I&eED oopse I 585 oomse

(3) I508cm IT e Box DOISD (4)

e

v ax W
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103. Consider the following Venn diagram
\BoB 35 D= Sodbodol.

The difference between the number of Graduafed Athletes and the number of non Athlete,
non graduates is equal to

(1) Number of graduate boy Athletes
(2} Number of graduate, non Athlete hmrﬁ

ﬁ”fﬂumber of non graduate Athlete girls

(4) Number of non graduate Athletes

Spegoe wand Boethe Sopgh B Eosther shod Shnigher THoo aodmd Sou Ko M
8o SamSsodinb.

(1) f)%m@xu DD, Lét:'@ﬁxn oo eresd Rop

(2) Shoben oo, @i &0 ral Souh

(B) B s0rdss Breetho Hogh

(4)  Sgopgve edifostho Song

104. Select the triplet of numbers amongst the four alternatives which has similar relation among, the
numbers of triplet (8, 56, 72) is

(B8 =0yS (SeySmaired® (8, 56, 72) Soarydabos® aif) Sosg S Jovo Homotio Aol weroh Soootrdy

SON &%) Sowgsabo &) Pergmuird) ol
(1) (5, 35, 40) (2) (3,15, 21) /@ﬁ;, 63) (4) (7, 49, 56)
o o _

ST 254 TN IO
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105, Fight persons AL B, C, D, B, F, G, H are sitting in a .-:1r.|i.=.;ht line facing North. -Irhn}r hawve .Jifr[."h
ages 12, 18, 27 12 14 49 55 and 63 nol “l._,;-{.‘.;_.mf“}- inn the same order. B is Hll[‘inﬂl second Ly thy
Il ot the oy ]'h"l"'iﬂ.ﬂ, 49 vears, Between B amd D there are bwo 'i'l-Ell"H[]]"'lH ﬂﬂl':i Dis I"Iﬂht of B. 111!_'
person secomd o the right of 1 has age 32 and he is at the right end. '|'=|'1f.'r+:'_l5_nmf person bertwriiger,
the persons having ape 32 and 18, A is sitting second to the leftof E. A is sitting immediate lefy
D The one who is 63 years old is sitting 1o the immediate left of B. Difference between ages of
aned G 15 7 vears. Both are not sitting together, One who is 27 years old isrg_itiing at rthr.- left end, ¢
i & vears vounger to D. The one who is 55 years old and H are impiediate neighbours. T,
numbswer of per=ons between H and the one I'Ii:l"n"]rl"t!; age 4 Vears 15 qu.lzﬂiﬂtﬂ::'-l.hﬂ' number of Persan,
between F and the one having age 55 years. The persons between Band [} are

AB.C.D.EF,G, Hed 5008 fot adbo Sy Sy ol S630° Seligon. 0 Sabigens 12,18, 27,
AL M, 49,55, 3 ol = 26 oo ido St 49 Sodgyre Sabiy o 08 285 J9E Botls =D B
Sl B @odis De iy st ke et Hbak B © 6398 D ampp. D S HEIHS Dos
TRoG e S Sy 32 Sosdres Hbddkn add SGRdt Gl J8S amyh. 32 Hbdin 18 Scbidy &g
Yo 05 o8 If eomih. E 9 265PHE Botdaam A Satigrh. D & 285308 hdotd A e,
B & 2055358 3ibBotd e S8 Saibwy 63 SoSdpedy, Biabbuin G o Sdisie Stk do 7 Soddoe,
mgmmﬁubﬁﬂammmamﬂﬁﬁgﬁuﬁmnﬁmﬁ; D o8 C 6 Sodére

| R H Sba 55 Soidiore Scbiy) ety B8 esmn. H Sbak 34 Sosdre Sy
QR0 gy ax) Gihe Songd F sibain 55 Sodiioin Sabiy aioet i ad Sihe Sopgd AdEso. B
obdin D e S amoh o =

W G ve (NP Es e

106. The Venn diagram which depicts |'.h-E--_mﬁ.:1 having only d sl o
sons and no children is oD g only daughters, only sons, both daughters and

D06t Siimgen Srigh o, Bhmoes SrEdh i
S Wl g ﬁ'&?:;; dianG, HirGoe Dbk Do BEEr ST

L

(1) @ () 9 @ OO

S - S N
107 f[:-‘u; r:nhw nf menand women seated facing North, Lakshmi is gt from the ri ght and Vishnu is 12t
Vishnu ;g A mEdEuTE;n;m el o from right and 6% from the left. Among men
e ri an : : . o
rank of Vishnu from left sl isIE'ft. If Lakshmi and Vishnu interchange their positions, the

ET-13251-1A-P
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DEIOM 3 068 Brtodt T a7, T ool %im;gf.: o 52phs drdod® S aami,

B 5 %ol R &
Soatooe Pégym Q% 508, wans so8 53, LY Srbod® R e, T aob

il Les )" 12

(1) 5

4 _ + 8, C, D, E, F, G are placed onéabove the other in the descending
order of their salary. G's salary is more than that of F and@D. Lowes! salary is not for D. Salary of
A is less ﬂIEI‘I. that of G, and G is not the highest Eﬂaﬁad.persun. * 30,000 is the second highest
salary. Third lowest salary is 21,000. F is not the third highest salaried person. E's salary is less
ﬂ‘j.an that of F but more than that of D. Cs salamy 18915,000. If any two successive salaries are
differed by ¥ 3,000, then the sum of the salaries of F and A is

7 8% afiybes A, B,C,D,EF, G o deb RO wETD KA =0 doo o ebffirn Hiodt
sotaczon. Fbdn De deve Soll Gdsh,Jiys Doy 8o drostioBh. Grog dsmis =, G fodl A
280 StyS. Toud Mog ddo 30,000 trabe SrdS £33 d8o 21,000 Srdabes. F fmees Koy ddo
rotitioBts. E e ddo Fdso Soff s Sbatm Do Kol 28, C @y ddo 15,000 doedecben. 5
Colh SR Sare 3o savar 3,000 Searaien wond, FSbdin A e Ty Sore Tndo

(1) 45,000 (2) 42,000 3)] 51,000 /m:m

110. The total number of squares in the following diagram is

Bol Stind® 4ol SldEre Sogyg

m 2) 12 (3) 8 @) 0
ET-13251-1A-P 25-A lm‘ I m ||||||H“ﬂ|| n“
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hich will complete the pattern of the B,

Irures 'w b
111, Find the suitable figure from the answer figu

question figure.

= 5P ggﬁ.ﬁﬁud.
Ssioges Suped® 50 wovd Sbo alyd ey Shred Il e

Question Figure [ @eidto

- - — — — — - - - - —_— —_— —_— —

112. 3 of the 4 alternatives giveit Below are related in a certain way and so form a group. Find the
alternative which does not belong to that group,

BotS 1O : & Buoth BDYS T ot $o8 S5 Jerof Fowogio ol werod Soworr KrEs wossd

SO0% Sogsd nyse Mol G5Ehol .
135:243 Eﬂ? 7
(1) 27 (2) 512 3] ® qy (4) 625

- ;
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114. Give d
E:" below Question figure is an unfolded e
FO8 R BEBoo® BOD a0 L 30K B soh
Question Figure / i |

Select the correct figure from the answer figures which is the folded shapd olithe dice given in

Question ligure.
maren Stme Mol HHBood® afyd SOEH HAOSHD DB 0L ot Erdn g fiBos HOGR AT

SiyElol.

115. 3 of the 4 alternatives given below are related ifua certain way and so form a group. Find the
alternative which does not belong to that group:

(1) Granite (2) Bronze “.[3) Brass (4) Steel

Bod adys med (Sergimdired” Sy pieiimcire o8 DY Srgod” Bomomriy SN aotidle By o8
Ssarsrorr Sjarcn, & SHwraFRS Sopt emsmain® S5800.

O e a® @ cafwed O ed O oy 49

T —
"

tives which bears the same relationship with the third fhigure as

Bots 16y : : & Swots B,
spns Sendy e W68 Higsol.
"..I..- ; | G

ET-13251-1A-F
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dots or 7 dots or 8 dots or 9 dox S,

' 5 dots or 6 _ | }
On each (ace of cubye there 15 one among, 4 dots 1-,'|-r o e g e it i B
®Eh;ﬂ‘ l:';'u" -.?::ﬁ:rf-:w-:ﬂ of the dots on the opposite faces i 3. Which of the b MU,

cormect 7 )
LS S DB Sope o) St Sowge St S 3 edighiy BB Sxpop 4 e b B 6 2y,
" § B 0 Sotieed® .56 actbly aTmon. & B0l Stdnodt DO HOG@H0 7

<>
) —@ —{31 '1" (),

118. Choose a term from the alternatives given which bears the same relationship with the third (e,
as the relationship the first two terms mentioned before the sign : : bear.

Bol M : - & Svoth ay 2odd Doth dore og acﬁﬂﬂaﬁnmadb aoll® worod Nonogra)) SPES Do

SDRE ol alyee Dol £l
TALENT : LATENT : : SYSTEM : ? 8YS TEHW
(1) SESTYM @rmm (3) SWIVEL (4) METHOD

115. 3 of the 4 alternatives given below are related in a certain way and so form a group. Find th
alternative which does not belong to that group.

(1) Suspense - (2) Fiction
(3) Thriller (4) Literature

@mnﬁﬁmgm.#ﬁ:@mﬁfﬂgﬁm&ﬁﬁ frfod® Sonogrdy SOR dods
SErErore afderon, S SiratUs Soss Wmﬁﬁﬁiﬁd, g £ e

(1) espo @pf) (2) Sop BgS)
(3) edgio (Bg5) anbﬁ;p (045855)

ET-13251-1A-P
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121. Eighi persons A, B, C. D, E VG Hare stlting around a table as follows
() A B.C Dare facing the centre of the table
() EF G H are facing against the centre
() C s to the right of A
() Fis o the left of C
(v)  His to the left of F
(vi] A is to the left of G and to the right of F
(vii) G is to the right of B
(vin) E is the only person between H and B
(ix) D is the only person between A and G

Then the persons sitting between B and C are )
A,B.C,D,EF,G HeR 8 508 S 2.8 oy dhap 1200 :Jainrrérfg;q" F' /
(i) A, B, C Dog @nt) ool sldvpor ammb.

(ii) E F.G, Hw og @t Soprdd §5608crr agnth. -

(iii) A8 Da3HT C amyts T8

(iv) CE& JE53S8 I ewgid

(v) F& aosodags H aamis b

(vi) G sESads Sbain F & HEBH:S Aamg';:é &

(vii) B& ©Ha555 G enntd .

(viti) H &o8cio Be aﬁa:ﬁgmﬁmaﬁﬁamﬁz_‘s’a_ 3
(ix) Aban Ge g a8 of 38 DS

wond B Sk Ceo i gpﬁﬁl:ﬁ_gﬁ ol
(1) F&H () E®G™ [pf HeE (4) A&D

faces of a cube of 24 cmt Edge are painted with red colour and then it is cut into smaller
 the - ¢ no face painted and the

122. All the : 1
cubes of 3 cm edge. Then the difference of the number of cubes havin

number of cubes having exactly one face painted is
24 %.50.0 wodh o afdilo GuE) of) Iugrop DY
Soapeore poloTi, wand O Sopdi o JabA D) Hre Soxy DO PR
SoqrQy BOAS O Sare Sogge Pdo

\ O (3) 125 (4) 36

0 o (2) 152 0% “

! . i - == =

123. 3 of the & alternatives given below are related in a certain way and so form a group. Find the

alternative which does not belong to that group.
Bois By mrelh (BoyEmaired® S (Hegidire &5 A0y Srtiol® HomogrRy SON doko 3g w5

SSamsmore Do, & SEr08s S8R BErimry EHE 8.

Gorh Fabelod. mRD 3 ho.db.o wodh BORN IFy
ed Gorb Tohelds

294 T A

(1) REY CPA (3) QUD (4) TIQ -

FT.11781.TA.P
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e piven Bl

124. Two positions of a dice
- lﬁ"li'h‘lﬁ Dot Dot gloNmee Sod m.;’:::_ﬂ':-;f'ﬂ
- q %
¥ il be
If 3 is at the bottom, the number on the 1op face Wi % E
S8 Swoeop 3 doll, B aﬁwu‘fez ol GoRgs a) 4 . - =
[(Oh].1 (2) T btatned minimum marks
- AT whe oUE"
125. The following Venn diagram shows the details of o smj ?‘:I.Trnerféﬂl.ﬁhﬂlﬁ-' (NA)
gl e Logical Ability (LA) a0 pus 2DO6 (NA) oo,
the subjects General Studies {GEJ::;E}EIMEJ 3608 (LA) &0 s

1000 S0 Dorthod®, adod HET (
£05 Sordigen Brob Dorgthe DSTHR

Im ﬁ :

e/ | &

| | o |
The number of students who obtained minimum marke either in none or in all is

&
Bob 35 Do FRIR" 4

G5

Bodtie 255 ety o), Bor @ ﬂ#ﬁ‘n“.u'ﬁhi’:i:'ﬁ:gmﬁq]ﬁ Sorgiie Rogg
(1) 193 (2) sé? @_— 182 (4) 184

126.

3 of the 4 alternatives given below are related in a certain way and so form a group. Find U

alternative which does not belong to that group.
Bod af)yd Taih [Popimdred® S (SegEmdire o 08 Srbod® Bomoprd) YDA dofitic Sy :

S Sderon. & PRorF08 BosN HEEmaieg SH8H0A,
(1) XTIKM 4 «2) SODFH (3) YUJLN ol _rMCEG

. Count the n_unif:lﬂ'-pmﬂelugranm in the given figure.
a0y Stiixd D HErodd daipere Sogd 800l

(4) 17

T-13251-1A-P 30-A ‘mmhm_mmﬁm_m 1IN
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128. Ch |
t'!'-I:"IIII:*'l':I’:'!':- :h:F?EnhI;unth; E!l:rl:.'mlh:'i'i given below which bears the same relationship with the first
WO lerms mentioned after T D
gﬂﬂ@::wﬂ%ﬁmm!mm esign :: bea -
oo Jerof B o Somoor Sndd
ﬂﬂﬁﬁmn%mgﬁ@?g e owogio aod’ werol i
ﬂFEE:?”'TEK:M‘I.FUH

L] Eror (3) WNMZ (3) EQRH (4) WRMK

= I — .

129. Below a statement is followed by two arguments numbered | and 11 Decide whiciaf the arguments
15 a strong’ argument and which is a 'weak’ argument. —
Statement : Should the determination of the gender of the fetus before birth{ be gompletely banned

in India ? -

ﬂIEI.I_II]Fnﬂ . . 3

. No. There is no such Prenatal Diagnostic Techniques Act in many cOuntries, became people
have a right to know the gender of their unborn child. N

Il.  Yes. This helps to prevent the female child foeticide and ko TAETOW
gap in many states of India. [ Y

(1) Only 1 is strong (2) Druly[liséb'niﬁ!'!'

(3) 1and Il are strong (4) Neither I nog IL s strong *

Boss 1§ B5580 ons | Soas [ Sopged frtodels Wit sotron, & oSS 20 'BOBIE

Doy 8 ‘wetrsDSc" Diowomd. -
S50 : wieD Swod botio v Dol Dpde PEBdo® Sogrgor Yagomes ?
I, E&.WMMHWE%@W&E%M@H&&E@@MM

Dori Dorties TLEsto 0 Py Y
L sd § 86 Eroddgesd DRoIERE S0 s6ESHor’d ol8 UiFod &f Dol woloRy Sosait

down the growing gender

RRGREOIR N
(1) 38D sodss Il Smh poRost
(3) 1:8ain Il en Botir pOTRY (4) 1oh o ll o2 28 soPHo =

130. Choose the figure from I'.henltemauws which bears the same relationship with the third figure of
the question figure as the relationship the first two figures bear.
Bots sy [Hev SHes" @nos o Sbive i Serof Hopobinolt werol SovoFR Sl Hbof

500 dol Sboid Lﬂmw&ﬂrﬂﬁnﬁ JiipEiol.

@O B

m() D 2@ "D

2.4 IR A
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) Decide which of the argumeny,

. umbered |
131, Bolow a statement is lollowed by lwo nrgull‘u:l'l‘llh:‘u:::“nt
AR e M S .
is a 'strong’ argument and which is a weak! argu -
\ 1L e district ¢
Statemenl : Should there be a university 0 every dis
Arguments : | _
it in remote villages will have accee,

I, Yes The students who are financially v;;ﬂak and residing
iversih ir higher education.
tov Universities to pursue their hig SR—

II. No. The quality of education will be lost and unemployment problem
Unly 1 is strong (2) Only 1l is strong :

(3) 1and 11 are strong (4) Neither I nor Il is strong N

&olf o8 (35350 Bowd | Hocin Il Jogged Srdodulis Dot etisen aﬂm & Toded” 28 'voiiish

Soddiw D8 ‘wolrsBHss" dimword.

B5550 1 (38 et w8 DYDOYpAvo dotSeRods ?

S ¢

L =5, efborr pubriid Hbdm Srtire [Fired® DShedBEryhu P8 &S DOFH egihodong
S RmRdiro sothertnd® dotra.

1. &% DO [Dilrereih Esﬁa‘)m:m Sobain :JM‘,EH ﬁfﬂ%‘g'ﬁﬁiﬁﬁm&
B [drgED oopse 'p;/ I 5P wopso
(3) Tbain Ilen Botr puRsD ()% T 8o 10 D& DoRh 59
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133. Twelve persons are sitting in two rows containing six persons each. A, B, C, D, E, F are sitting in
row-1 facing west and P, Q, R, S, T, U are sitting in row-2 facing East. There is an equal djﬁ““““;
on in row=2

between adjacent persons and every person in row-1 is exactly opposite to some pers
the left of E.

Three persons are sitting between S and R R is not sitting at any extreme end. S is to eft of
te neighbours of Q. Only one person 15 51 thng

P is not in between S and R. U and T are the immedia
d person to the

between P and T B and C are exactly opposite to S and P respectively. A is the thir
left of B and D is the third person to right of C. F is immediate neighbour of C. Then the person

sitting exactly opposite to E is

e85 SRS uth SHod e Dot Stses® SRyoth od KT, $hs-1 & SEHE 8D efiopor A
B,C.,D,E Fex Erlpimth Sbdhn Sths-2 & drdy 84% eldvpore P,Q R, ST, U BT &5
S5 Sr) e Sy $ Erto Aod SBaty SEs-1 & Ertn (58 $8 Stg-2 &° ntyif) 95" &8
H588 S elsvpor ek, S H0am R o fufy sty Shen Srdpmein, R 0g D365 SrEB. R
8 SEEDTHW S avmtd. S Hbd» R 0 g P s, Q & g @853 Uksan T e ey, P S0
T 565 o8 o8 S8 Ertpyom. S S0a P o Stmm B Hoak C & o efivpors avgls. B &
DEDIPH Sorid 8 A 8aiw C 8 HA3HS SrdS &8 D.C8 S5° F amytd. o8 Eﬁjﬁ]r?n

efSuporT Sreting S8
(1) T (2) U @_Q (4 R

———

134. If 343E_HL 18 cm and 12 cm are the dimensions of a‘euboid whose faces are a_!P paiited blue and
6 cm” 1s the volume of each cube obtained by r:ut-;;mgthe cuboid into small cubes then the number

of small cubes having only one face painted is

(1) 3% (number of small cubes having 2 faces painted) + 20
- (number of small cubes having no face painted) —4

(3) 3x( number of small cubes having 2'faces painted) —20

(4) (number of small cubes having no face painted) +4

o) Soare HD Sorb Sabolss w8 E5Eo AwE) Fedo 24 Ro.8.0, 18 0.8 e, Bdko 1270500
bk e L8y OF) forreom poln DGAS 5 Do @n) Hi50Ere0 8 00y 0.0 ®ons

S0 Scbelds Supo 8 a8l EDASDY) Porre Sopgh SSrDHid,

(5 Sopin Dar 5DV 0F) are Sogg) —4
(3) 3x(Both BorbIaheds Sngren o D7) o Soxg) —20

(4) (& Sopso e Borb 89 OF) oare Song) +H4

35. Choose a téem [rom the alternatives given which bears the same relationship with the third term
as the relationship the first two terms mentioned before the sign : : bear.

Bots 1o : : & Swoth a9y Inid Dotd Soro Dt dorod Somogo dob® werod |
DAY Sordy pfyEre SHold §HEh08.

SUM:53::TEN: ?
(1) 42 (2) 64 (3) 35 @39

” R T T L
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136. The water image of the given below figure is :
B0l sfyw S ﬂmﬂg mo (R6Dowo.

o

SRR
Water

___________________
137. ThE Six fHE'Eﬂ. of a

'-I-F"'"iﬂ"- rediso :
face. Th PPosite to th

- e
ET-13251-1A-P \\
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." pose a numbe
i | 15!]. ":h e from the alternati
: first number as the . Somatives o

S YO NuUmMbers meds same relationship with 1
S0 @ éﬁﬁﬁ B Ansa ot s TS mentioned after the sign : ¢ bear.

lm_ Thl.'_" '1|-'I.T'|..'-Ih:.'r im.ﬂﬂu l:!lf .H_“_'.. : A : S — .
of the given word is TUITOr image of the word "MIRROR! if the mirror s kept on the right side

‘MIRROR’ &3
g HDﬂ;ﬁTu T SO et o038 v stio g, Sy iaBeernd wo (50000
i @ MIIOS  (3) WRNOM -~ W@ NOWAIW

e —
- e _— — — e — e

-
1) 44 .
}fd (2) 70 - oy .

given below are related in a certain/Way ‘and so form a group. Find the
not belong to that group. |

1:;; L T Boglgdivad G Berdmairen L5 R Srfod® SomogrR) SOA oo dp &8
O DYEEEO. & SriF0s Borsa g §5o8hot.

4913 2) 3375 3y £ 5107 501
@) 33 @ 16

— — s SRR =

L |
3 of the 4 alternatives given beluw‘a:e relatéd in a certain way and so form a group. Find the

alternative which does not belong to that group.
Bots aqys mrestd [Beimaired® i Smyimaire o 083 SrPos® Somogrl SO sokito Sy o
Raridore Dtfjiercn. & SdnFNs Bod | Sergmair S58508.

(1) heart (@ kidoey ™ @/femm (4) liver

143. In the following figure triangle stands for housewives, Square students for women employees,
circle stands for mothers and rectangle stands for women graduates. Then the number of graduate

women employees hauﬁig-éhﬂdren 15
Bob Hb0s® Bebeo M@, SHiFHo Hire aSibod, Ho deub bdn SgSdge dire HHitbus
Benzperon, wond Syeo feo Dygithoons Sire asfyo Somyg

(4) 7

(1) 1 @5 __5 S
A TR

1
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_ath from the bottom. If the plac,
Tﬂ“k ol B 15 13 ira Enﬂngﬂ‘l ol the clasg I

ym the top and the nd B, then the total

is 30l fre Aa
. Inaclass, the rank of A TS50 © 0 o in between
- }:E i.-a‘:-'u“' place after A and is exactly It  (Bol 4ol 13 58 C Gy "ENO A Sthany
o8 S50, A Qg TgoS B ol 37 Hm:ﬁ o S61BSD 5D &” e

ﬁmma.ﬁﬁﬁmﬁ”w*@ﬁ

31
S o %
32

Sl T

: of the table. Every wife i
; famﬂg the centre T The names of
= ted at a circular table M.N2O. The 5 of the
145. Four married couples are seatet 3 % © ' ccorent sweets named L BOSG TS Tr jes M. G
seated beside her husband. Each man Em‘

ther.
eight mareﬁ,.ﬂE,D,E,FnGrH-PemnnEDdemE;ﬁ{EFﬁmtedbEMEenGﬂndH.E
me;;-er son who likes N and she sat second to the eig % = le. If only one pair of women
iﬁwif[; :f[;ﬂperﬁun who likes O. Person C does not like O. E is a male-
is adjacent, then who is 3™ to the left of E ?

< i, oD §8 B PUnod. Ha
PSS o e i s S et s 0800 o 550 13 B,
D,E, F, G, H. gen D 8csn Hen 50b aamgs. D& Lisignonaim H® Mago. N sl &0 g5 G
Hobain & H HE 355 Boks s’ &rtnob G &oa H o Sty F &rti. O % =58 9 grey
B, &5 O Cuidtics. Ev8 Htoaiped. o8 o8 [§0 w0k 5% ([BE5y aol, EH JEIHS 3D Fdos® aotn

[@] S ;/A ® H 4) C

— e ——— —

146. 3 of the 4 alternatives given below are related in a certain way and so form a group. Find the
alternative which does not belahg to that group.

© 805" wenots RODOGRYY Swetls Srod’

Anthr lﬂg]':HuxnanbeiJm::Dnﬁﬂ;glug}.i
( Insects (2)  Reptiles (3) Volcanoes

- (4) | Birds

. U0
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.1‘_5. [I'i thu ﬁ[.";l.lﬁ" 3]1[1"-111 I.“I‘Il"l'i.‘\"' -|'|."1. I'“‘IFH]“ E'Iﬂl'h‘d 'I‘Hm n ﬂt fi .ﬂ.M

chadow of the person at B is | and finally reached B by 7 AM. The

alling towards the side of A. The direction of A from B and distance
R at a perpendicular distance of 4 m is

between A and B (in meters) when O is bolow I

1Nm

15m |
(1) South-wesl and 4 /zj/ North-east dhoti
(3) North-east and 9.2 [3)] North-west and 942

B S008 A S8 68050 8 ot ndbendd 0SS BsEBet 8 adabo 9 foveD Jod. BIG & 53
Gty HE A 6 395 5806, BREgrpomn8 Bod Q4dhtifvon drtos® aob, Bl A aok By S0
A, B o ity tto (egst)

(1) Ptod Sbako 4 (2)n, w0 Sbcim 4

(3) Gerigo DBa 92 (4}, irasnigo SBasn 942

49. Below a statement is followed by twoarguments numbered I and II. Decide which of the arguments
is a 'strong' argument and which 1§ a 'weak’ argument.
Statement : Should the manufacturing of leather products be prohibited ?

Arguments : |
1. Yes. Killing animals for any reason other than the reason for the purposes of human beings
will lead to ecological imbalance.
II. No, through Ieatliér'jfmdur:ts our country earns biggest foreign exchange.
I{l} Only I is strong (2) Only II is strong
(3) Both I and Il are strong (4) Neither I nor II is strong

BotS ¥ BSSSomes | S0 Il Sogsed drdotads Bobh PEiw sotran. & TEHLS DB ‘BoPIE”
Dobatn DB ‘DelFENE" DEoooed.
B5:5:5:80 : SPen Bided dcirth Jabto Vadomrer 7

PENeD
L w5 Srsorhs aS@rrsE som0 58 S50 adt sobmorrRa soidol Sobto dy daedte N
&ards b Bob.
I =t 8 Side oxoe & Gdo DB4 Srbdord Hodrliiyol.
ﬂ [ S mePse (2) T S oot
(3) I50Bain IT en Botir oHd (4) Isod 8 1l 2R D6 woDRh soth
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firsl -p:r'u' m::-nl:iurl.lr‘_'ti

¢ Hood aﬁ;ﬁéﬂﬂ'

Books

n.l,il;'nr'l..ll'lﬂ'p as the

i 'I'L"l
: t has the ST
]ﬂ:t“lllll"-q I]‘l‘

B By mf_ﬂ‘-".-
f eerol ool Hone o
W

]!‘“- th'i._-l-i._l'- II'“_" I-qi-'-“ rn-q-l-". tll'll'.'- ﬁih.“‘l
Twdore @ has

et & Fools A5y ow fREE"

|
Pulp : Paper - hiss (V) Stallion S el : a1
o 7 Y ke @ Duches: S S clusions can be
] e g7 . en. Thess conclusions 00

I Y h
151. Below a statement followed by bwa condelusions I r b (e rivid.

: nl
. e o indirectly or mal
derived from the statement cither dins tly or indirecii -y
comclustonis) follow(s) from the statement. t ]:'l'h.* 5.““111'_1 work :
Stalement : To achieve cconomic development, ped |

Conclusions ! k hard
I Economic development leads people to wor il

' is i ible.
1. Making all the people to work hard is impossi
(1) Only 1 follows (2) Onlv 11 follows

| s follows? "
(3) Both I and 11 are follows (4) Meither I nor I is fﬂ'l“!'ﬂw-ﬁi bomren @ Ferinrie ook
BASE nE (BSE%0, oo Tond | S0 [l &F Both Soymee SHEES v, D 8 SEETY
@%@mﬁmﬂ@mﬁﬁﬂmﬁ@ﬁm@ﬁﬁmm&mmm T
et e :J-E{mgﬁgﬂ._
[BESEc : Sew 508 50 37 «fE HTAB FRoIHIY,
L uBs 90O Swes SgSE 60 Bcvol oo bikod ¢
I Pew sosbd EgSE 30 Tty Sdblo oL,
(1) 1&5m@d ok (2) Sl 5mss efstion
,(;r’”‘ | %ocko Il o Bodr ostron LAY 159 Bor llee D6 edisbodt

;:I-"...-""l.'!'ﬂ' ;.,",-|.:|I':'.'f'n'..'-i".."l-ﬁ'i:| {:H A W"Ith'-—"f 3

| and II are given. These conclusions can be

152. Below a statement followed b hm'i:pﬁﬂ.uﬁnng .
A ly or may not be derived. Decide which of the

derived from the statement either du'mﬂ}*ur indirect

conclusion(s) follow(s) from the statement. |
Statement : Religion is regatded by the common people as true, by the wise as false and by

the rulers as pseful.

Conclusions : !
1. Common people will hawe lot of faith in religion.
II.  Rulers make use ofreligion to rule the people.
(1) OnlyIfollows & 7 (2) Only Il follows
[(3] | Both I and Il are follows (4) Neither I nor 11 is follows

Brosin o8 @ﬁﬁﬁg;_‘!ﬂﬂ Dol | Sobdio 1 ol o ﬁm&m‘m Barmtron. & émé@m 8 (H5S530 Dol
B@gorr Bor S8 55 boeren iy Bor [BSH0 wol Sy bores SSRGS, O ST oD (SRSR
wihNbrar pasetod.
B0 : GoEs, g SEOMR, @b eldormie, Subo SEPRESDEBMPET O
E .
L Srigeh HEch oo Dewlo dotnob,
Il  Srobw Haoid FO0SE Hed) a5@ErRoHbolws),
(1) 1&m@D eibistion (2) A smgd o
Slatsvslar
1 Sobadn 1l e Bote
) hagialeci b led Bor [ 900 D8 wifoiBosis
assmee
|mullﬂ.ltﬂnllnmu—
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153. Below a statemeny Which j
. i th : ]
given. Decide Which o ﬂ':: I:':I h ST b followed by Wi assumptiong
' n

K . T (Lh ' ; : : uin
Statement - P savs to ) 15(are) implicit in the stalempn bered [ and Il are

Q. 'l You want |n buy a Refrigerator, buy the

H.ﬁﬁl.]l'l‘l :i_l_'l-“ﬁ: (LT
P X' brand Refrigerator.

lII 1!,__‘:5"1.1.‘.'!-“15 o buy 5 Hs:"ll":iﬂt‘mlur
l_ X' brand Refrigerators are good,
(1) Only 1is impliciy A ol i et
v s implicit

[3] E‘l"'ﬂ'!l l: i » 1 Il
ard 11 arg mplicit (4)  Neither I nor 11 is implicit

o QrodE o =
- . = il wi [adai)

-

(1) TS aml ace (2) NamaEiyaSE ach
[B]] 156 leo Bottm sl e (4) 18, Ach I =0 26 ama 8
_ s e
154. Direction : Decide whether the data provided in the two statements given under the question
is sufficient to answer the question or not. |

Give option ;
(1) if the data in statement I alone is sufficient to answer the question;
(2) _if the data in statement II alone §s sufficient to answer the question;
A3 if the data in both the statemetits I and II together is sufficient to answer the question;

if the data in both the stalegenits | and II together is not sufficient to answer the question:
Question : How is C related to.FE 7'

Statements : S

L A is the mother of Band C.

II. B is the father of D.and B is sister of E.
PSRN [ & (B BrbEs a9 Both BSTTed® af) SEroo B BHD SErrTY a0l SASE s

Dgamool.
20 oiysd) Hhbodoly,
Sdwo (Badso 15540 Harorto SmEh @6 SSrrdsn airns SA5ES oo (1) sb:

Sdeo Baisse P Sirarto SmEd (HHH SSreritn sdns $h538 oo (2) sb:
©SS5550 1 &1l 6% Ssrarto 50D (B SSrrsso ains SHSEE oo (3) ob;
@550 Tl 60 Srerto EODT [SHDH SSrersn sl SASE SEE wdo (4) of;

B4 : E& C8 5 25258 notbdiiinod ?

[BEdren
.  B3banCeH AsD
II. Ddws) dof BHbdin E@ns) A6 D,

T, T R S & i““lmummnmmlml
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assumptions numbered [and 1T are

the statement.

to the festival® ?

155. Below a state thich is to be taken as rue fol _ icit 1n
given. ﬂt‘ridznﬁl:;;hh:}hﬂfe Eh.-m Egsumpliﬂﬂ[!r] ﬂ{ﬂl’E‘} 1311511:}111"' brother
Statement ; A asked her husband, hl"%}r dont you -
Assumptions : ival.
I U':lit?ﬁs invited, the brother of A's husband will not al:h.'._nd thE fﬁ:::m.jﬁ
Il.  The presence of the brother of A's husband for the fﬁt!u.ﬂ P "

(1) Only Iis implicit () OnlyMisimplct = _ |

(3) BothIand [] are implicit (4) Neither 1 nor Il is implici - g o & 56 (39)
G DODF DB rlostens Lf HSE5n 0 Jood Do il SEEEN

B55508" ehsE? (ensah) Dfcwodod,

[(DSEIo 1 A wm, HEE° see Sinob. “JSofrh H AEHT JoHD HW
Praien

L. A Dl ¢ Gk MsStrs, ek s b Sodre® et

I A&t 66 Gty 2560 oo Soryits crem w5550, 7 o e

IE ] Si@ sl aca ’p;/umgm Aol

(3)  1550ctin Il en Bottr alol aaman  (4) |8 Bl =0 06 a8 85

l!"?

L

— —— —= —— —
T ——— — e e

156. Direction : Decide whether the data provided in the two statements given under the question
is sufficient to answer the question or nol.
Give option : . iy
(1)  if the data in statement 1 alone is sufficient to answer the question;
(2) if the data in statement 11 alone is“sulficient to answer the question;
‘m if the data in both the stateméptsl and 11 together is sufficient to answer the question;
(4) if the data in both the statements | and 11 together is not sufficient to answer the question;
Question : What is the age of AT,

Statements :
.  The age of A is twice the age of B and the age of C is 4 times the age of B.

1. The age of D is 60 yearsiand ‘.I.-_]_: times the age of C.
raTeLioen ¢ & @ﬂmm Dol BSdSrodt éin Rdeiedo u (S ;&E’u-:?n-maﬁgpﬂﬁ SRS oot

[SSdTren :
L Ao BSoi o B St C sy B S 4 2ay,

Il D Sciiy 60 Sosren mdats C St 1%%
_____ = ”-'-—-—-________________________-_____-
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v 10y |
: T'I-{‘l'l.ll.li-['lll'lql
! ! ﬂ“l.l " a LT i
Are I;'.H'-I'I'I s ¢ Ilﬂ[‘ll.lﬁiﬂﬂﬁ can b -l..h_"l"l.'h"{'l.l

cither direct] :
] i }' ".!t- I | Ly :
(5) from the thl[-rn._-::hl“ Uy or may not be derived. Decide which of th

Now g tavs

the ¢ : e
addiction. vommon problem in every family is the child's smart phon.

Conclusions -
1. The Parents are so

I1. i Ll
0 ;1:&!:.1:‘:;“ ﬁ11:!n tlike to play outdoor R
Eelai iy (2) Only 11 follows

(3) Bothla .
nd Il are follows Neither 1 nor 11 is follows

busy (ha they are unable 1o look after their children.

L SD5oither 8% Do erA%oe Srnsidtod Dém aotumts
L Dges otrdor B wierds agstso 8. >
(1) [3m@Esh wfkthios (2) Sl woitios
(37 1%bai oo Botir wksban  (4) Iewb S oD D wikiibois:

158. Direction : Decide whether the data provided in the two statements given under the question is
sufficient to answer the quéstich or not.
Give option ;
(1) if the data in statement [ alone is sufficient to answer the question;
if the data in statement I aloné is sufficient to answer the question;
if the data in both the statements T and II together is sufficient to answer the question;
(4) if the data in both the statements | and II together is not sufficient to answer the question;

Question : How many sons does Anitha have ?

Statements : &)
L Anitha is mother of X who is brother of Y.

II. Anitha's daughter Nilima has only two brothers.
SoeiliSen : & (B OroSA RS Do (BESTed® af) Siroto & HHS Sirgrly il NS o8

Domosol.
2 o=l MhBoSol,
S5e0 B5550 [ 650 Serorto SeEh 6D Shreriin afpll SNSES aiso (1) o,

d5e0 [S5550 1 60 Ssrorbo SrED [HHD Shrerdin sdyrs EREEE oo (2) o
S5550 I &AI'6%0 Ssrorto 0D (H&H Sdrerddn sl SASE8 oo (3) esd;
B850 LEIN'E?D SSrorto SO (HHH SErersin aimis $nse 588 oo (4) v,

B4 : eEDH o8 ok Kysietioen 7

[P&SSaren !
I Y5 FEttd wond X H 80 eld.
. ®08 Srédt HOH agth Aot Sm@d SOA aob.

41-A
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ed h:p" two Il&'llllmptiﬂnﬁ numbered | and

11
implicit in the statement. arg

be taken as trud follow

a 3 4 114 "I 1._':- h..! ; .
159. Below a statement which , assumplion(s) is(are)

iven. Decideowhich of the gives honiiss for their empl
ﬂ: n::nmnt e A company has announced good amount of ployees,
Assumplions :
. Most of the employees don't leave the company.
than before.

II.  Emplovees work more efficiently
(1) Onlylis imyplicit

(3) Both I and Il are implicit (4)
g QbR Ressbd) rooSSehs ed (HSdsEn ol 20
Sassos® RSE® (oAHS) AoNoDos.

[Sddso 1wk gond & asbe DO Andos’ GFSH (HEH0D00.

PR !

. orer Sob abfybo 5020 DED I

I a&fyben Snbsd ol JHy HegboonT S, |
(1) A &mEd ool dod (2] I Somi@sh afel @0l

[ S8k IT o Bokn aibd aamap  (4) o8 S Il DO adds Glay
i I e S i

160. Directions : Decide whether the data provided in thé two statements given under the quag .
sufficient to answer the question or not.
Give option : -
(1) if the data in statement I alone is sufficient to answer the question;
(2) _if the data in statement II alone is sufficient to answer the question;
if the data in both the statements Tand II together is sufficient to answer the question:
(4) if the data in both the statements [ and I1 together is not sufficient to answer the question;
Question : How many girls are thete in the row of girls facing North ?
Statements :
- ght end of the row and is 3™ to the right of Hema.

ﬁ'ﬁﬁﬁ:ﬁ@ﬁ&ﬁﬁﬁﬁi}ﬁﬁnﬁa@ﬁﬁmﬁ“ﬁ “ ‘
b BQER HEoo:

7) Only Il is implicit . |
i Neither I nor 1115 implicit
A Both grdden SEREEOELBY eSSt o o

FT-13?51-TA-P
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161. B.l:.lm‘ ! F-':ih-:?]"ﬂ“ which is to be taken a5 trae followed by two assumplions numbered [and [T are
ven.  Decide whic - : _ -y . ,
E e which of the AIven assumption(s) is(are) implicit in the stalement.

Statement : Today a reader, tomorrow a leader.

Assumplions :

1. Those who do not read books cannot become leaders.

L. One cannot become a leader without learning from others and thal requires reading,

(1) Only Tis implicit [{2)] Only II is implicit

(3)  Both 1and 11 are implicil (4) Neither I nor [I is implicit

S OI0SD Deil (rOoSSehs e S5555n D Sond Botd ride WBE. L8 EAg UL (L3
(Bdd508® oRSER (eRsS) Agavodol. |

[BEES00 1 F8 Mud S8 o,

oD

L Sfceen SE550 ooth mrdbhen so8t.

I ssthe ol Sipsibom e Pabbd sEt HadAD B%NP Stodto wliddo
(1) 15m@H a8 aod Il $met 208 &ob

(3) Iodn Il Bokr st ammon  (4)  Isehdor 150 H8 =l S

162. Below a statement followed by two conclusions T and Il are given. These conclusions can be derived
from the statement either directly or/indirectly or may not be derived. Decide which of the

conclusion(s) follow(s) from the stalement.
Experts say excéstivéwork load leads to heart attacks. But some celebrities say

Statement : &1
that they find workas an antidote to stress.

Conclusions :
[.  Some celebrities are oyerloaded by work.

II.  Work leads to stress.

(1) Only I follows (2) Only Il follows

(3) Both I and Il are follows (4) Neither I nor Il is follows

BroSS el (HRSS0ran Jood | H5bdn [T 63 Both 8oprer afporor. & STy o @dddo Dol
Bisgorr Tor S6Terr 55) Soyrrw sE) Bo (B850 SHoll Sy boren SRS, O oy @ESTR
eSbAar Aovosod.

(BBiSS0 ¢ S B0 08 2848 DN ol .

Somren
. Eod swof Dth Mo 08 K BN eBl ek,
. 9, wB88 ob &8,
(1) 1&mEd edsokod (2) 1l S8 wionbdiod
[ S0d [len Bott» esodxan  (4) 1evd S [l 520 D6 @iiBoh
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; 164) :
Direclions (Q.No 163 and | s
hl:udw- the following information carefully and ans

- " ':
o

' 1 1 ny.
Follewing are the condibions for selecting a senior clerk in a company

questions given below.

The candidate must /

(i} pet atleast 50% marks in screening, test ?L

(it}  have a praduate ﬂEEEL’ with atleasl 60% myksf
e

i} have computer course certificate in Microsoft-of
(iv)  have less than 28 vears of age as on 1.6.2022

(v) have atleast 55% marks in SS.C. \/
In case a candidate

(@)  who doesn't satisfy (i) above, but has secured atleast 70% ma:i:sm graduate degree and atleast
45% marks in screening test, will be recruited as junior ﬂerl_r:a- |

(b)  who doesn't satisfy (i) above, but has work expeﬁencé-qf atfeast one year in a company and
atleast 50% marks in graduate degree, will be recruited as Head clerk.

“8 SoUNG (28 haask gh% dobe Fue'scal Ruogsed B8 avmon,

o2

(i) {yof BEE* 8h0 50 80 Smiyen drod 40Dy,

(i) 530 60 edo Srtyss’ rrixdhal AR S0n goo,

(i) BEPF el sogrub s 5486 SoMacED.

(iv) 162022 68 28 sosdyrusod sty Sab) Son acmp. |

V) SSC.&° £l%o 55% Sntien Srodiebotr

hﬁﬂﬁﬁﬁg: - .. | |

(a) 3 )R 3 BESomeddl #has 70 X = = o
Eﬁn {ﬁlm j-gwm@ ;ﬂ ) iﬁ_a’arﬁag,ua‘ [regdhe 8 o finok Be* hsa 45

b) B (i) % BoSBetoniact, £ So106 ghso ok «

163. Mr. X was borfi'on 4ih August, -_—

| office course, He has secured
He has completed his graduate degree with 56% marke
company for 11 months. Then Mr. X :

(1) Can'Be recruited as senior clerk  (2)  Can be recruited as Junior clork

(3) Cantbe recruited as Head clerk Ca
- 1 ! . t |
o nnot be recruited

(2)  e=nawB £5 Dabdvogs
{3:: _:r:.!i %Eg"rﬂ ﬂcﬁ:-;'mﬁ::iﬁa;&; (4) Dossmns WIS b -

s 1 DG

ET-13251-IA-p
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164. Mr. Y was born on 37 May 1995. He has secured 71% in graduate degree and 58% in 55.C. He
has got 46% in screening test. Then Mr. Y

(1) Can be recruited as Senior clerk Can be recruited as Junior clerk

(3) Can be recruited as Head clerk — (4)  Cannaot be recruited

Mr. Y, 1995 & 33 868 afomth. edib (riegdhyS AA8* 71% Hoom 55.C. & 58% Sroceth. fiRof
BRE® w308 46% Sl woxd Mr, Y D

(1) H0abb ghr DabodSdy (2) wnDdob EEe HdhDodHiy

(3) 0B g6y DoboSdn Deimenl el s-cﬁa

sides are of length 5,7, 10 units is fph square

165. Assertion (A) : The area of the triangle whose
units.

.' 1 ‘
' ' = — Juruts.
Reason (R) : If B is the base and ' is the height of a man.gle thien its area > bh sq

(1) both (A) and (R) are true and (R) is the correct ExpW’rﬂf (A)
both (A) and (R) are true but (R) is not the carrect éxplanation of (A)
(3)  (A) is true but (R) is false

(A) is false but (R) is true

(4) |
N&ddw (A):  ghere Ferges 5, 7, 10 div=Digre Mo [Bebusn T8, PGP J66 SK85sp rty,

1 d
oo (R): o8 (Behaso Ent) g5 'b s 38 h' ward e Jeee = - bh 5652 ook,

(1) (A)Z0an (R) Botr HéEn S0ain (A)S (R) S8@hs D20
(2) (A)58ai (R) Dot HSdin 5%, (A)6 (R) S0@S D8be 55
(3) (A) S50 =9 (R) eddno '

(4) (A) wd&so =0 (R) S

166. Statements : No white 1s hlack; No black is red.
What is the decision that £an be taken based on above statements ?

(1) Some white are réd (2) Some white are not red
(3) No white is red (4) No decision can be taken
SSSaren : 3l D8 Sen soh; SenPd A6 IHH s,

P [BSSare ol 8:o8e Ngabo 26 7

(1) FYPILHO XoHD (2) 5O Bendd HEHDHD D
(B) Bl D6 oY S /@/: Do BiE

™ e —

167. Choose the correct option that continues the series AZY, BYX, CXW, DWV, BVIL .
AZY, BYX, OXW, DWV, EVU, FUT  @d0 ss>nod 56 wans sy J5p508

— . mMERARmY

ET-13251-1A-P A
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B

 a non leap year 1™ January and 31" December fall on the same day f the
AL

week.

. There will be two odd days in a leap year blz}:mnd 52 weeks.
e E;H][A] and (R) are true and (R) is the correct explanation of (A)
Eﬂ: (A) and (R) are true but (R} is not the correct explanation of (A)

(3) (A) is true but (R) is false
(4) (A)is false but (R) is true

2@ySde (A): =8 b Soddpo =D Sosdpod®, 5t 15 86 &Ronb 319 86 Eot™ od iy,
Qoiron,
oo (R): 52 svoee dows 2 Bleren 28 DY H0SE)508" aotron.
(1) (A):0ak (R) Botr Séin w6ake (A) S (R) OGS D0
(2) (A)HBck (R) Bor Sdso =D (A) 8 (R) 50506 Jaibe 0
(3) AA) Sdgin =0 (R) siddgsn
Mﬂ} sidEn 520 (R) Sdg

168. Assertion (A) :

e

169. A, B, C, D, E, F respectively stands for £, #, #, >, <, = The implication of the two statements
4yFEIHnd?:IFEEwhmex,y,zmmy&rﬁpﬂﬁﬁﬂfgﬂlﬂummm
A, B,C, D, Ebain F e St5re £, #, 4, >, <, = ofis SRDRonon. L, Y, 7 & O3 Srd OF o

moggen. 4 YF 3 x $08cko 3 26 Z Both [Bddare grian
E y:xDy zD y;xEy (3) #F yFz (4) xFyB:z

170. If +, —, +, %, =, > and < are respectivelyjndenoted by A, V, A, §, E, G, and L. Which of the
following is true ? '

+, =, 4+, X, =, > S0k < &% &G A, V, 4, § E, G, wdcko L oo $00% Bo8 e Do

. 13A7V6A2L354 1] g’lﬁﬁmElEMm&
@ 9V3V2A1G8S%2 (4) 28A452L654A2

'-—_-—.l-
'

171. Assertion (A) : In 1 minute, the minute hand of a clock gains 5% over hour hand.

Reason (R) :  In one hour minute hand gains 55 minute spaces over the hour hand and angle

madeé by minute hand in 1 minute is equal to 6°,
(1) both (A) and (R) are true and (R) is the correct explanation of (A)
(2) both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

MBI (A) 1 e IDG oo, Hobe Svep Ko, Dlodre Swey 51

= dwoth aotsod.
S8mo (R): a8 fob oot fove Svey Sofl, Ao Swem 55 VDipe Svoth dokvod HOE
Qibare dwen 1 Died® Th Sfwo 6°
(1) ~(A) H8ain (R) Botke Sifgsn S8k (A) & (R) 568 D5es
(A) $08di (R) Dote H855m =5 (A) & (R) 5605 D566
() (A) 38 =B (R) e -
(4)  (A) 580 &b (R) 55
ET-13251-1A-P 46-A i..l.lml..llﬂm
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172. Choose the correct option that continues the serips 132, 182, 306, 380, 552, 870,

132, 182, 306, 380, 552, 870, Baa B0 wonid ol Jhnttel.
(1) 1020 (2) 1148 };’%f? 992

—

‘_._._--_.
173. If THERAPY is coded as GSVIZKB then the code of the word BIOGRAPHY is

THERAPY 2 GSVIZKB re 5 3%, BIOGRAPHY @ws; &6
(1) YRMTIZKSB  (2) YRLT)ZKSB (3) YRLSIZKTB [(f{ YRLTIZKSB

e s of
174. Observe the following data flow diagram which displays the sequence of activities in a proce

gEH:i_t'IE admission in a CD].I'EE-E. 3
oS Sreodt (G380 Sosohl dod DOE S whEoD (008 Saod Ml E Susa B0

SndDodbol.

No, Em
Is fund available ND _E:::.:l_
Sapedso aoce 7 ?
Yis |esaddd
Pay fee
e 2P0
Hecet Admission confirm
?:t&m mmpl . @dde DR
S -
possible reason would be for not getting

ts all the valid documents, then the
invalid

i - has one document
admiss Of = . ed branch is not available /%/?;rggt to take the receipt for fee pay ment

[T

) SRR "wi iiuﬁ:a s () SwOpodohe SRERSOTRF
ep el .

o e AN

er.12761.TA-P
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i 7,42, 59 s
175. The missing term of ihe series 1, % 6, 11, 18, a2

(.36 1L 18 7 43 50 @4t EOboSD o
;T;ll 2 & 27 34) i

i..__h_ Afloast two men out of A, B, ¢ and D and atleast two women oul of T, Q, B, 5 have l::_ b Chiosiey,
= 1..~. from a commiltes of five. Along with Q either A or C should not be placed, -""Lll‘rf'lﬁ ‘aj-l'lth B vithy,
I or S should not be placed. Q and R should not be together, Which of the following is a possipy,,

acceplable committee ? [
A. B, Cfobato D Stbos hso s508* o P,Q, R, 5o Sirgod” ghﬁg'@# o8 52080 5
somes SdirD. Q & Svw A o C actiiith. B et P o S dotiirdth QMR e S0 dolirds; »
Bol =0E* Pgody Shbud® whErotin sonist. | -
(1) APQRC /(zfl‘A,E,D,P,E

(3 B.CQRS (4] P.RSAD _

177. Read the following information and answer the questi o™ -
(i) ASBmeans A and B are of same age L N
(i) A" B means A is younger than B
(i) A @ B means A is elder than B
Then P¥Q @ R § S means £ o
(1) P is the youngest among all (2) “R.isthe youngest among all
(3) Qs the eldest among all [-!.j "5 15 the youngest among all
Bo8 SSrorory S6D (B Sreribsol, |
(i) ASBeoch A fbaw Bﬂs};ﬂmw_um
(i) A*Beoll BSauty ol A Bolisy Sy
(ili) A @ Beol B sy Solf ASdbiy Jys
sasd P*Q@RSSwoll
' ©os6's P Scivisdys, (2) wotod's R Sabdy S55
©osBE’s Q Scbiy) RS (4) ©0o886"8 S Sabdy) S

178. In a certain lmgmg@il:nde for '"KNIFE' is 5 # % 3 $ and code for 'LAKE' is @ 7 5 $ and code for
FLANK' is 3 @ # 5, then the code for 'LIFE IN FAIL'is
2.8 BESF 'KNIFE % 5 # % 3 $redr, 'LAKE i @7 5§ riir S0ck FLANK' % 3@ 7 # 5 mise @] o3

ge® 'LIFBIN FAIL' @) &6
DE3S U #37%@ (2) 73%$#%73%7
(3) L S%35%H@# %5 (4) %535#%#@5%

179. Choose the letter series from the alternatives in which the number of letters between two successive
letters taken from left to right increase every time by 1

i ool HAS bbbt Doth Sk et Dt aol ety Sogy (HEFD 1 DALY & eFS FoY

oijPo ol JiinEol.
[M] OMKIG ;ﬁ 0IGDC (3) ONLK]) (4) OM]JFA

ErassLIAT i5A AN A
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180. Effect:  There is a lot of demand for the courses of Computer Science and Engineering,
| Which of the following can be a strong cause of the above effect ?

Worldwide the need for software personnel is increasing enormously day by day and the
emoluments for these jobs are very high :

(2) Itisvery casy to complete these courses and get employment
The other branches of engineering are very difficult
(4) There are no job opportunities for the graduates from other branches of engineering

[BerEne @ Soirl 1) wok soadach myod Tor Adrol dod.
ol =RE® Pl D5 (S5l podd 60 28 7

(1) @0 ygore F536 hgod eo 5808 Dabsor IO HHE & &G HutE) F05 e
T ST dodron |

(2) & Fhped g Sabko Hedy el Sodboisdo T Hog
(3) =cERBORE™N add Tpw e Bho

(4) =88 scabbol sye ol Shgithuas =08 asirimm Bl

e — — — - -
e —
—

181. Below two statements 1 and II are given. These may ha'l.re a cause and effect relationship or may
have independent causes or be the effects of indepéndent causes.

I.  The Prime Minister's security has been tightened further.

. The Residence welfare Association of defense colony has decided to tighten the security and
arrange more number of CCTV cameras to the residenbal campus.

Then the relationship between the above Statements is
(1) 1is Effect, II is Cause
(2) 1l is Effect, I is Cause 8

Both I and 11 are the Effects.of &.common Cause
(4) Both I and II are the Effects of independent Causes

Bod (B350 I, ($5550 1l en sfipiion. & SSSre sOedn Hodn Herso o Sonogrd) SOA a0y
Bor 8o srdorw Sy B D0 o [Herare SSH)

. (58 Sold god sow Siphbo Subalod.
[I. Gs So Gt darbibe HoE Sofbo S8 bomred Aaood, Dars |Prourll HODY s CCTV
Bboren ©30oT.
2 PSS S5 ffo.Sobogo.
(1) Iseo, s so
(2) 1 Sersie bebmo
(3) 1:58a11Bokr Sfold setrod [Herare
(4) lsvbdm [ITckr adipd 508 Heraren

808 Bihses” afyS O Soge SEHS 588 Bors aDyS Siustey ehSosm Tkot’, €2 SONS wEo ¥
18+12-6x4+2=24

1) &+ Mx (3) —d&x 4) | ~&-

S L

Ta3251.1A-p oA R T



SAKSHI
Rectangle

SAKSHI
Rectangle

SAKSHI
Rectangle


Appearances are always deceptive.

! ' Id.
R) : All that glitters is not go | .
:Tﬂ::;] ::[A} and (R) are true and (R) is the correct explanation of (A)

(2) both (A) and (R) are true but (R) is not the correct m:planal:iun of (A)
(3) (A)is true but (R) is false

[d) (A)i= false but (R) is true

oedde (A): P8 £3003D of) InSirosRD.

sdze (R): &R Son porrto S,

(1) (A)0ai (R) Botkr Sdmn H0dn (A) 8 (R) S6@% Db

(2) (A)&bais (R) Bokr Hdin =0 (A) & (R) 5085 D56 soh

(A) S =0 (R) ek
(A) sisiEn = (R) S

184. Inacertain code BF K K T V P is code for the word j’Eﬁ.LGUS, then the word having code
BFIQOFU is (The word need not have a meaning) .

BFKKTVPelt JEALOUS @) 6. BFIQOF U & m 5005 58p. (o S0 ego
dolSaite H)

£
() HEARTEN JGCPVGP J

fAEHRHET ) CGJPPGV

185. Pointing to a woman, A said "she ig the sisfer of my father's mother's only child's son" How is the
women related to A's wife ? |

(1) Sister (2) Sisterin-Law ’LZ( Mother (4)  Aunt

o8 30 Srbiz A s s, ‘ol o Sof @nd) 80 @t J8% Somso Gs) S Gt 0. & 148 A
ol grtd® He Hosoo.

(1) Rss [(2)], Sas 88 Sossen (3) 8B 4) o

183. muﬂlﬂﬂ I'*"":' .

o
T —

el

186. A,B,C, ], M, N, P, R, S \ are 10 members of a family. N is the grandfather of A, M is the daughter
of .5, ], C are brothers-in-law of R. B is the son of ]. V is the mother of C. R is the Son-in-law of
N. A is the sister of M. P is the paternal aunt of B. Then which one of the following is not true ?

(1) R is thefather of M (2) ] is the maternal uncle of A
(3) B is the fiephew of P (4) A is the niece of R

A B, CJ M N,P,R,S, Ve a8 enomes’™ 10 508 Haben. A @of; o8 N. P @l 308 M. R @t

PRt 5, [, Cen. | &%) St B.C V.N st R M s AL B
P. (Bod 0E° DB widEn 7 . . . —

M Go#) doif R (2) A% Hssrs]
(%) P @) Sifeys B [(4) | R @) Sxsfecen A

ET-1325114.p 50-A [ﬂm““ﬂmmmm



SAKSHI
Rectangle

SAKSHI
Rectangle

SAKSHI
Rectangle

SAKSHI
Rectangle


187. A, B, C, D, E are five
on ﬂ'IE .E-I,I_]::Ije.l'_-tﬁ MHHH.EE:E;ELFT; IQ:I E.l S. T i’":l'" [ive Hi.'["'lﬂ!l'ﬁr each ﬂ!r Ih{'m wrolp E:'l[ﬂll.'“}’ ame book
+ FNYSICS, Elmmistr:,r, Flulan:-,- and Zoology need not be in the same

order. Each stud r : :
ent owns only one book. R is the authar of Chemistry which is not owned by B or

E. a.'ﬂl. oW ns h'l-ﬂ thl:"“"l.ﬂtil,"q hﬂ'ﬂk
: E . B owns the ook wriltie T 1
it : i1 | _ en by T bul not Physics. D ; Zoology book
ritten by P. Physics book is nol written by 5. then Physics book is I

1)  Written by :
Eq; e rh:tn :} S and owned by C (2)  Written by Q and owned by C
: ritten by P and owned by E (4) Written by Q and owned by E

;ﬁ: E,ED.I:;Z :&ﬁmﬂ Jogoen. P, Q, R, S, T v othiivod Sdonden. J0C° $6 o8dr rddzHo,

k RO, TR0, PEerpio Hbdhy modeo 6 dopeud (08 [Ebol® SHsG) 8 o
“5 RSTR) Shometh. B8 Doy Sduo oF ad DY) Arodorr SOA dotrdil R BRrabidejo Gilond; &
P50 BEw Ew frodo soth. ridsmido S50 A frofo. T3 50050ds HEo B frodo; &8 FaseEo

==t B3 500808 am-ﬁ:-u-ﬁ;::- P50 D frodo. Frase|io ﬂ,:w.ﬁSﬁﬂndéﬁ:r o Fageno 3Hs0
ST SZodnliod Hbdain C drodo (2) Q3 Booswletihodn C oo

(3) P3 Sooselos Hbd E oo [[@)] Q3 soodales ©bak Efrodc

e | — —

188. A, B, C, D, and E are 5 brand names of an item X and F,'@Q, K are 3 brand names of an item Y. A 1S
heaviest among A, B, C, D, E and R is the lightest amc:ng P, Q. R, Brand C is costlier than D and Q
but cheaper than B. Among 5 branded items of X/ A 18 not the costliest. D is cheaper than E and
there is no item of X whose cost lies between the tost'of these two. E is heavier than three of the 5
branded items of X and all branded items of . @4s costlier than R but cheaper than P w‘hiqh 5
heavier than Q. If B and C are heavier than'D, then lightest among the 3 branded items of X is
o8 S X o) wanth ero B A, B, C,D &bain B 559 Y @ns) e grof 9 P, Q K. oty A,
B,C, D, E o Asthass oaw P, Q Red” R 80888, Q Sbdw D solf C phth wonst 5*8 B ol

SEBS0, Sk X @) erofios® A slpdlell pEse s, ESod DSSER0 Sbdkn 86 $0&e ofg® X
Gt & (erof S wbe 8. X@iSyErofed® Srlofgod Mbdn HY Y &) »d) erobo gob, E
2thEse. R gol Q ubass =0 QE08 ot P ol 55856, B Sbakn Cen Botir D S0l othy eoxid
sond, S X @os) o) Erogdt BHES0

(1) B (2 W€ ol

189. Choose the correct option that continues the series G119Q, K253W, M39C, Q1531, ..

G119Q, K253W, M39Gy QIS3L, (380 53od 300 oqerdy HpSol
(1) B45W = (2) C565 (3) G9OM [ a}—s2850

(4) E

190. In a certain code language, 'CUB' is written as 7 @ 4, and 'RELATION' is written as '1*553# &9’
nd CELEBRATION is written as 7 *5* 4 1$ 3 # & 9 then in the same language 'AUTOCRAT" is
written as
2.8 083 &°6 gnid® 'CUB' % '7 @ 4' reiior, 'RELATION' 2175 53 # & 9 rmisre So8aiw CELEBRATION
< a5+ 4183 #&9mEr |8, o8 ad 'AUTOCRAT & o8 S50,

S@5&7185 (2) $#3&7153
3) $&3@7183 JB $@3&7183

T 14 LT
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191. Study the following arrangement carefully and then answer the following question.

" C6QASFIDENTRHOKX2GHVA*BTIHUA
If the 5 element from the left and 4™ slement from the right are interchanged, then the Mumbgey .
comsonants which appear immediately after a number is
(Bob e08h sridm wipdido 30, Bod HHh ShrgriDiipel.
CoQASFIOENTRYOKX2GHVI*BTIHUA
2 dol 35 Sresl) Hbdn HA fol 45 Srosd o R s HEM eRf Srind, %5 oy,
aard Sobd 5Ty frepe dowy |

(nf = /(2)”3‘ (3) 6 (4) %,

192. The codes for few letters are given in below table, The code of a Ie_ttEl.'wa in the tables is itself,

—

The r:-::[rfd;:ﬂ of a word is obtained by replacing the letters of the*word subject to the conditions
(a) th the ends of a word are vowels then write the codes of these two letters as codes of the

immediate next consonants.

(b) If first letter is consonant and last letter is vowel interchange the codes of these two letters,

(c) If first letter is vowel and last letter is consonant then both are to be coded as the code for that
consonant. -

The codes for the words 'DRAG' and TRAVEDI" are respectively
) sirod 88w 3o SAESt wﬁn;w & efocds 5 E o wgid.

e [ 12 [ [« 53417 [s [ s [w o [o[]]]

2E o Gt 85 craloedl o EID wirron oo 8 Bl (Tiir SBoSHehs Ddbmes

(a) hﬂﬁﬁﬁﬂuﬁg?ﬁﬂﬁ?ﬂﬂﬁﬂrn%&ﬂ@ﬁ,mﬁﬁ.ﬂdﬁdﬁnﬂﬂﬁ%@ﬁﬁgﬂ
(b) e Sto6' Aol Phko Srep, D58 sElo wify awd, w8 S'Eui StBo Sedoa.

(€) =8 S6od” AEA wEo By, 958 wEbo ey wovd, Totir © ey Gy BES |abol.

DRAG' S:6at 'PRAVEDI' Sicre) Ging) §°%8en Stoiirr
(1) 534%,031458* (2) 543%, *341550 [P 534%, ©34195% (4) %435, *5§1430

193. A, B, CiD,sEmd F are six members of a family. A is mother of B who is husband of D). F ic the
hﬂthﬁﬂfﬁm of the parents of C. D is daughter-in-Law of E and has no siblings. C is son of D. The
““F“hﬂ' of males and females in the family are respectively
AuB,C, D, E %005 F oo 08 senonod®™ ettt sehge. D & 6 wows B @) 89

| ; A. C G
SProgbed” 508 F . B S 5:¥ e 82 D. D Gnf) Siintetts C. s Senonost &) ptiosies

SoBctm he Somgen S
(1) 3,3 Fz;_f'“.i.: (3) 24 (4) 3,1

FrasmsLigs 2.4 AT
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194. In a certain code,
ORDER NOW FOR PROFIT is written as "oh aj ey ag"
NOW RIGHT FOR HIM is written as "ag aj ev es”
FUR PROFIT PLACE ORDER is written as "oh ey ib ag”

IN RIGHT ORDER ONLY is written as "ev hd ey oz"
Code for PLACE HIM ORDER is

nE N3G BB

ORDER NOW FOR PROFIT & "oh aj ey ap" e |srabalol,
NOW RIGHT FOR HIM & "ag aj ev es" e grabalct.

FOR PROFIT FLACE ORDER % "oh ey ib ag” » (zrdbalok,
IN RIGHT ORDER ONLY re "ev hd ey oz” |srdbnlol.
PLACE HIM ORDER &g, 8°E

(1) esibag (2) oz ev aj es ey ib _f,_-{-'ﬂ"'ﬁtm'ﬂﬁ

ir wi need
195. Fumrm[., A, B, C one is a doctor, one is a teacher and one is an H‘Iﬁﬁ‘ﬂ-ﬂ’f [, E F -:"'E ';‘3: :'::;Trfw. 03
not be in the same order). E marries an engineer. HuShand F is not a docior

married C who is not an enginecr. then
(1) Husband of F is a doctor (2) Cis the, hﬂ'ﬁbnnd of E
3) Eisthe wifeof B 4) Cis aRoctor
L}E C od® vl Styxt, ﬂmmwm;ﬁm somhs D, E Fw o0 oo (esd ii::i
eiSto Bth) Eaostdbé dodradmlol. Fﬂ#ﬁ g 2y . Bas adngydinl. Ca Do
ed wid soshb s soxd

(1) FZws) g8 28p Y2y E@sggsC
/ﬁf"ﬂ:ﬂnﬂgwﬁﬁE @ C Sy ) - -
196. The -Iu-l!ter-: of English u!phabu,t ‘except Y and Z are coded with the digits 1, 2,3, 4,5, 6,7, 8 as
fallows. |

With this code, ' HILLJ i coded as ‘6222 Similarly the sentence ‘SUBJECT OF THE COURSE' is

{ed as ‘
::ﬂ ﬁ;ﬁruﬁ j 4 m Z a5y hed sgou® 1,2,3,4,3, 0,7, BscSul Bo& Do BE Seth,

't E'E-E -5‘ 'E]LL' 5 '6222 m 55 = SUBIECT OF THE COURSE sa =50 Eu5 g
73 455 322165 (2) 6167634 23 455 321166

’@/-hlﬁ "‘4 23 455 321163 (4) 6116534 23 435 321165

554 R

I . e— e m—
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?
lowing letter gequence !

of question mark(?) in the fol

197. What should come in the place %
: oear
Bob s FAS @4 g () ﬁ@la;ﬁaﬁ‘ o0

BYDW, CXFU, EV]Q, GTNM, %t} IRR]

TG
(1) HSPK D KPVE M__ _ L
e I the question given BR:

198. Study the following information carefully and answer
(i) A" B means A is nephew of B
(i) A @ B means A is mother of B
(iii) A & B means A is grandfather of B
(iv) A $ B means A is husband of B
(vl A # B means A is father of B mﬁsiﬁn-P&QER@E*T#U,ifUisama]

Which one of the following relations is true from the exp
member ?

Bob Sraroed) enfidr ediabiso 3N, Bod BHHD SErRIRHeE
() A*Beol B@ns D A

(i) A @ Beocl Bdans) 2 A

(iii) A & B woll B i) oeif A

(iv)] A$Beol Bans ad A

(v) A #Bwoll Baxs) o A
Ul 9o 56038 Bob Sonorrpat PEQSR@S* T # U el ssxso oo D6 S8 SHE0L

(1) T#R @) |usQ /M@U 4) SSU

1199} In a certain code, ?ERB&L is coded as 22-22-18-25-1-15 and REASON is coded a
18-22-1-8-15-13. The code of CUBOID is
a8 083 §°64°, VERBAL & 22-22-18-25-1-15 i REASON % 18-22-1-8-15-13 el B%E d&l
wond CUBOID &ws 56
3.5-2-12-9523 h 24-6-25-12-18-4
" 3-21-2-15:0-4 (4) 24-6-25-12-18-23

200. Choose the correct option that continues the series BY2, CX3, EV5, GT7

BY2, CX3, EV5, GT7 _{. FSD FEFNOT 90 wavd aYFRy Jiystol.
8 f @] xen (3) DW4 (4) MN12

-o0o-

prasmsiiae 544 N
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